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44 THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE
“c WITHOUT NOTICE AND SHOLLD NOT BE CONSTRUED AS A COMMIT-
b MENT BY DIGITAL EQUIPMENT CORPORTATION.
q
48 DEC ASS NO RESPONSIBILITY FOR THE USE OR RELIABILITY
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RBSTRRCT
THIS PROGRRH TE:T 11734 EXTENDEE ENSTRUCT'ON SET
(ASH V> US NG REGISTERS 0-5 AT-

Lsns? once uxru Encn

lr c?é' ; PRCCEE U m me %rcn;s LOu. THE PROGRAN 1S
}¥I§n§R EN n38:r128°4“s 53ﬁT°§05"5n§sﬁsflz§13 15234 DIFFERENCES.
REQUIREMENTS

EQUIPMENT
11734 STANDARD COMPUTER
AND 4K OF MEMORY

STORAGE
PROGRAM STORRGE - THE ROUTINES USE MEMCRY O - 17500

PRELIMINARY PROGRAMS
NONE '

LORDING PROCEDURE
USE STANDARD PROCEDURE FOR RBS TRPES.

STARTING PROCEDURE

CCNTROL SWITCH SETTINGS
SEE S.1 (ALL LOW FOR WORST CARSE TESTING)

STARTING RODRESS
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PROGRAM CAN BE RESTARTED AT 200

PROGRAM AND/OR OPERRTOR ACTION : q
STAND ALONE

{ RN R TR 8 P e o
THE

4) PROGRAM WILL LOOP AND "END PASS™ WILL BE TYPED AFTER
SSPTPL TION OF F;R T PRS? Rl‘? EVERY 4TH PASS. HUMEVER TYPE
WILL F 8IT S

8E SSED S OF LOCQTION SENVM IS HIGH
S) A MINIMUM OF TWO PASSES S BE RUN.
UNDER APT
LORD THE PROGRAM AND START AFTER SETTING THE DESIRED SWITCHES
(SEE SEC. S.1).

OPERATING PROCEDURE :

SWITCH SETTINGS
REGIS'ER IS AVAILABLE, THE PROGRAM

cmgs CONTENTS OF LoC, 176" A5 THE SOF TWARE

M REol R EHOCLO. SET THIS LOGATION BEFORE

S ARTING THE . PROGRASH .

BIT & OCTAL VALUE FUNCTION ;

o pomne it el HALT ON ERROR |
B . meeetatens o Tedy B out

N 8 BIT SYTE SENVN [1.E. LOCATION 421] HAS SEEN T0 DEFINE

THE OPERA ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING

BT ¢ oF 3555 SENvH HIGH, TR GTRER WORDS v PLIING A 20000 IN
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5.2

S.?.l

5.2.2

6.

e.1

6.2
Y,

SUBROUTINE RBSTRACTS

HALT ROUTINE
THIS ROUTINE CALLED vIA ﬁ NSTRUCTION I USED EACH TIYE
IN & & lsgg TYPED OUT UNCESS SUPRESSED BY THE SWITCHES
TRAP CATCHER

. +2“ Hﬂﬂ'l"' Rsssmwgs REPEQTE FROH gngg 02 CATCH

INTERRUPTS WILL HALT AT THE VECTOR +Z

ERRORS

3/
ERROR PRINTOUT
THE FORMAT IS AS FOLLOWS:

RADR ERRNM

WHERE :

RAOR . MSS OF ERROR

ERRNM = ERR NUI'BE

¥2LHOST CASES & T BESIDE THE Cﬂ.% FOR HALT SUBROUTINE
S WHAT ING CHECKED AND WHAT WAS EXPECTED. ALL

PRINTOUTS HILL BE SUPPRESSED WHEN BIT S OF LOCATION .

SENVM IS HIGH. WHILE RUNNING UNDER APT THE DIRGNOSTIC

WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

ERROR RECOVERY
RESTART AT 200 OR 222 (SEE SEC 4.2)

RESTRICTIONS
NONE

MISCELLANEQUS
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GOl

EXECUTION TIME

NORMALLY FIRST "END PRSS" WILL BE TYPED HITHIN SECOND AND
WITHIN 10 SECONDS FOR EVERY CONSECUTIVE 400 PRSSES

STACK POINTER @

STRCK IS INITIALLY SET TO 800

PASS COUNT ;
R 16 BIT LOCATION “SPASS™ (I.E. LCCATION 406) IS USED TO KEEP

“ PASS COUNT. IT CAN BE CLERRED BY RESTARTING THE PROGRAM AT 200

TEST NUMBER .
R_16 BIT I.OCRTION "STESTN" (I E LOCATION 404) IS USED_TO KEEP TRACK

T NUMBER Locm GIVES THE ITERATION
nuna;:% AND THE Louta BY ». TEST THET BEING EXECUTED

POWER FAIL

§Tﬂﬂ91mg§:na5m ugE POWER P&I&D HITH NQ ERROR? ¥S A

smm rnon rssr 0 nmn TYPING "POHER"

R l S NAN
AENGRY THAT A N1 GCo_BAa-MITH POLER DO THEN The
WILL NOT RECOVER FROM A POMER F

PROGRAM DESCRIPTION

THIS PROGRAM TESTSIB ALT'ﬁUg'ﬁOIEiI EINSTRU&T’I‘OI;ES OF THE Xéélﬁg
R R LeReleg Pl e e,
WITH DESTINATION MODE OF &67. THE DIRGNOSTIC COES NOT MRKE R

PASS WITH T BIT SET.

— e ——— e — - -
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DFKACA.P11
310 ‘
311 .ABS
3{5 'E%é?‘ MD,MC,CND
§14 -MCALL H?EOP .SACT11,.SAPTBLS, SRPTHDR .HERDER, . SETUP, PUSH, POP
15 .MCALL STARS SWRSU
316 .TITLE DFKACA
i B Lo ISR
313 msm% RRSe b 17€9

!PROGRRH BY GLENN JOHNSON

THIS PROGRAM WAS ASSEMBLED USING THE POP-11 MRINDEC SYSMAC
!PQCKRGE (MARINDEC-11-DZQRC-R2).

000001 trn-
160000 ssun-xsoooo ::HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT

SRR
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DFKACA.P11

330 :

H FRREEPUE PRI LIRS R F R B LRSI R L SR P LIPS L P2 S RSP LS R LSRR LR RS E R R R B L5 4¥

% 000000 .=0 :TRAP CATCHER 0 - 776

3332 3 SEREERREER R R AR R R R R R R R R LR R R R R R CRE R R R LR AR LR R R R R LR R R LR R 2 R LSS
0 gg; 001000 .SACT11

339 000000 DuMMY= O

340 000001 ERRNM= |

31 900051 = s%

32 000176 = 176

343 00 PC= %7

344 00 SP= %6

345 oiorm SCOPE=_ iorm

15 ol 2C0PESS 10705

48 001000 SW03= 1000

349 002000 SWi0= 2000

350 004000 SWil= 4000

361 010000 SWi2= 10000

352 000004 TYPE= IOT

353 .

354 -

355 000020 .=20

356 000020 0ies72 §TYPE
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00C400
000400

000000
000002
000004
000036
000010
000012

000014
000016
000020
000021
000Qe2

000400
000000
000002
000004
0000086
000010
000012
000014
000000
000000

000

000
000007
177771

047520

S

—— —— — "

042527

- . -

COUNT:
PSWORD:
TEMP1:

SPLAY:

TIYOUT:
$TPB:

gTPS:
020040 000040 SCRLF:

FOWER:

.RSCIZ

.SAPTBLS
. SAPTHDR
.=SAPTHD

.=COUNT+2
.=PSWCRD+2
.=TEMP1+42
.=TEMP2+42
.=TEMP3+2
.=TEMPY442
WORD

-WORD

: .BYIE
LBVIE

-7 5
Sl

-6

-
40000
S5
40000
-2

e

S9

e
177570

B4
177566

1 4
.ASCIZ «ISx<l>s 7/
12> <15 /POUER/

177570

KOl

$CPUOP
3,5
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DFKACA.P11 STARTING OF THE PROGRAM

409 000200 .=200

410 000200 012737 Q16356 000024 MOV
U Hié 000000 MOV

u

¢

: BE

U 427 000634 012767 000000 177210 MOV
428 000e42 012737 000001 000004 2§ MOV
429 000650 00S037 000006 CLR
430 000654 012737 000001 000CL0 MOV
::31 7 000012 CLR

8STESTN,RS
a8COUNT

81, (RS)
$BEGIN, 5P
§, 3%

80
81, 38SENV
cs

$SSWREG, SWR
81 J8TEMP]
asteEmMe2
81, JSTEMP3
asteEmPY

;PREPARE TO SERVICE POKWER DOWN ROUTINE -
;PREPARE TO INITIALIZE THE STACK -

;W&R§£Oé%}&Tl’E LOCATION STESTN

*CLE
s INITIALIZE TEST NUMBER
%% STACK AT BEGIN ##

;PLACE 80 IN PSW

+ARE WE UNDER APT ?

s IF NOT THEN GO TO 2%
;USE APT SWITCH REGISTER
;TEHPIE&

s TEMP2=

s TEMP3=1

s TEMPY=0

- -

- ———— . - - -
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y

i

i3

43

439

440

44]

442

443

44q

445

i

3 B

443 000679

450 Ooo702
1 000704

2w

4l 000718

4SS 000714

4SE - 000720

457 000724

4S8 000732

459 000734

480

461 000740

462 Q00742

463 000746

4e4 (000752

4ES 000754

466 000754

467

468 000760

463 000762

471 DO0766

472 000770

473 000772

474 000774

475

476 001000

477 001002

478 001006

479 (001012

480 001016
481 001020
482 001024
483 001030
484 001032
485 001036
485 001044
487 00104
488 001
489 001054

START:

06001

000006

016336

177066 28:
000002 4$:
000012 000002

015446

000000

000010 ‘
B8

015426

000000

000037

000006

176776

000020

000764 -

001006 8%:
REG1:

000004

000091

000006

016336

18:20 PAGE 12

SCOPEI
MOV
BIT
BNE
MOV

ASH
PS

CMPB

JSR

BEQ
JSR

4
CMP

I
SCOPEL
c

MOl

2§’
SOTEHPE,RE
.Rg,Rl

3 RERERRREREREEEEEEREEEEEEEEEERR

; ASH INSTRUCTION TESTS
Tt T PEPT TP SR AT

!!!*!ll*i!*l
: TESTS 1-36
l!!lliill!!l
J¥TEMPL, %0 :LORD RO WITH THE CONTENTS OF TEMPI
" 81, 948PASS IS IT AN EVEN PASS ? -
gs 3r NOT THEN co T0 2%
$TEMP2,RI THERWISE EXECUTE THE INSTRUCTION
:IN MODE O USING Rl

ni,no
TEMP2, %0 ;SHIET RO BY m NUMBER SPECIFIED BY TEMP2
38PSWORD s SAVE

“’IE"" . J8PSWORD: IS THE PS = TEMPY ?

PC,SHLT ;SEEN_AN ERROR, GO TO_TH HALT ROUTINE
:THE PS IS NOT'EQUAL TO O
J#COUNT ; INCREMENT THE COUNTER

B:IEHP3.Z0 ;IS THE RESULT IN RO EQUAL TO TEMP3?

PC,SHLT AN ERROR, GO TO TH HALT RCUTINE
EE ITHER INCORRECT RO OR INCORRECT SEGUENCE
(RS), J8COUNT 35 THE TEST NUMBER EQUAL TO THE
£T :IF NOT GO TO THE HLT RBOVE
(RS)
(RS), 837 :HAS THE CONTENTS OF Rscrsrsns BEEN sumsn LEFT
:BY 14. AND RIGHT BY
ggrsma .
TEMP sSHIFT TEMP3 L
és“'éi . 420 *HAS THE comsms OF REGISTERS BEEN SHIFTED LEFT BY I14.?
NEGAT §r 0 GO TO NEGAT AND % ré% ; Ogcm SHIFT
PC, TST37 F 50 GO AND CONTINLE THE PROGRAM
NTEMPL , %1 0RD m WITH m: CONTENTS OF TEMPL
81, 983PASS IT AN EVEN ss

'L

;IS

,IF NOT THEN GO TO 2%

,gg EEHASE EXECUTE ASH INSTRUCTION IN MOODE O
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ASH INSTRUCTION TESTS

8052
0oo0o1e
015304

000000
000010

015264

000000 -

000037

000005
176634
000020

000e22
000B4H

000004
000001

000006

2
000012
015142

000000
000010

015122

000000

200037

000002

016336

000002

i}

BS:

8%:
REG2:

23:
4S:

bS:

RsH
MFPS
CHEB

BE
JSR

NO1.

TEMP2, %
J8PSHOR

-

§HIETP21 BY THE NUMBER SPECIFIED BY TEMP2

BUTEHPH J4PSWORD; IS THE-PS = TEMPY ?

PC SHLT '

J#COUNT
JHTEMP3, 41
.+10

PC,SHLT

iE
(RS), 34COUNT i1
6% i1

(RS)
(RS), 837

GR
PC,TST37

UTEMPL, %2

ué aasnhss
JETEMP2,R3
R3,R2

4§’
TEMP2, %2

; SEEN AN ERROR, GO TO_TH HALT ROUTINE
sTHE PS IS NOT EQUAL TO O

; INCREMENT THE COUNTER

:1S THE RESULT IN R1 EQUAL TO TEMP3?

; SEEN AN _ERROR, GO TO TH HALT ROUTINE
ITHER INCORRECT R1 OR INCORRECT SEQUENCE
S THE TEST NUMBER EQUAL TO THE COUNTER?
F NOT GO TO THE HLT RBOVE

;HAS THE CONTENTS OF REGISTEQS BEEN SHIFTED LEFT
:BY 14. AND RIGHT BY

;SHIFT TEMP3 LEFT
i HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?

; IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
:IF 50 GO AND CONTINUE THE REST OF THE PROGRAM

LOﬂD R2 WITH TEE CONTENTS OF TEMP1

10 ES
8£?EEH£SE EXECUTE ASH INSTRUCTION IN MODE O

SHIFTPRE BY THE NUMBER SPECIFIED BY TEHPE

24PSIORD :SAVE PS
STENPY,  Q4PSUORD; IS THE PS = TEMPY ?

PC,SHLT

J#COUNT
J#TEMP3, %2
.+10

PC,SHLT

(RS), J8COUNT
63

(RS)
(RS), 837

gs
JsTEMPZ

;SEEN AN ERROR, GO TO TH HALT ROUTINE
sTHE PS IS NOT'EQUAL TO O

;IS THE RESULT IN R2 EQUAL TO TEMP3?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;EITHER INCORRECT R2 OR INCORRECT SEQUENCE

;1S HE TEST NUMBER EQUAL TO THE COUNTER?
IF T GO TO THE HLT ABOVE

:HA THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, Y M.

AND RIGHT B
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ASH INSTRUCTION TESTS

00535? 176472 AsL TEMP3 s SHIFTED TEMP

i354 000020 ggg é?S% L4820 ‘HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT 87 14,7

0167 00046 JMP NEGAT +1F SO GO TO NEGAT AN TIATE RIGHT SHIFT
qu%sr 8805 as: TSR PC, 15137 -; 3 33 "% nrxnug *ué RES oé THE PROGRAM
010701 REG3: SCOPE!
013703 0000OY MOV JRTEMPL, %3 : LOAD na WITH rns CONTENTS OF TEMPI
032737 00000: 016338 BIT 81, 388PASS IS IT AN EVEN ss
305983 _ ENE gs :IF NOT THEN GO TO 2%

1 000008 MOV lTEHPE.RH .OTHERHISE EXECUT ASH INSTRUCTION IN MODE O
072304 ASH RY,R3 1USING R3
300402 B8R 4§
072367 176420 28: ASH TEMP2, %3 sSHIFT R3 BY THE NUMBER SPECIFIED 8Y TEMP2
107737 000002 48 MFPS  2sPSWORD :SAVE PS
éﬁgzag 000012 000002 ggga aoTEnPH . @8PSWORD; IS THE PS = TEMPY 7

. D0N787 015000 JSR PC,SHLT SE:N AN ERROR, GO TO TH MALT ROUTINE
" : :THE PS IS NOT'EQUAL TO O.
00S237 000003 INC J8COUNT
023703 000010 CMP a8sTEMP3, %3 :1S THE RESULT IN R3 EQUAL TO TEMP3?
001403 % BEQ .+10
004787 014760 ISR PC,SHLT «SEEN AN ERROR, GO TO TH HALT ROUTINE
4 a :EITHER INCORRECT R3 OR INCORRECT SEQUENCE

:cin 7 £00COC {Mp (RS),J8COUNT ;1 TEST ER EQUAL TO THE COUNTER?

1532 BNE 8§ .° :1§ ~3$ GO TO THE HMLT ABOVE
005215 INC (RS)
010701 SCOPEL
021527 000037 CMP (RS), 837 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED

: - :LEFT BY 14, AND RIGHT BY 1§.?
00201 8 8%
00S237 000008 IN STEMP2
006367 176320 AsL TEMP3 :SHIFT TEMP3 LEFT?
35%335 003020 . ggs égga " %20 :HAS THE CONTENTS OF REGISTERS BEEN SWIFTED LEFT BY 14.?
000550 BR NEGAT +1F SO GO TO NEGAT AND INITIATE RIGHT SHIFT
005767 000342 83: JSR PC, TST37 :1F 50 GO AND CONTINUE THE REST OF THE PROGRAM
010703 REGY: SCOPE3
013704 000004 MOV ISTEMPI, %4 .Lono RY WITH THE conreurs OF TEMPL
810501 MOV RS,R1 :SA 5 REN
37 000001 018338 BIT sl aospnss :1s EVEN pnss ?
001004 BNE 2§’ :IF NOT THEN GO TO 2§
013705 00000 MOV aorznpa,ns .ornenuxsz EXECUTE ASH INSTRULT'Oh IN MODE O
072405 ASH RS, R4 :USING R
000402 BR 4§
072467 176256 2%: ASH rsnpa /q :SHIFT RY BY THE NUMBER SPECIFIED BY TEMPZ
103737 000002 48: MFP E +SAVE PS
651335 000012 000002 ggz anT MPY, Q8PSWORD: IS PS = TEMPY ?
004767 014636 JSR 'PC SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
THE PS IS NOT EQUAL T0 O

000011 11
005237 000000 INC 8COUNT

C23704 000010 CMP J8TEMP3,%4 . ;IS THE RESULT IN R4 EQUARL TO TEMP3?
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% f% 001403 - BEQ 410 _
g 4 00N77 Ol4&l16 JSR PC,SHLT : SEEN 'RR T0 TH HA T -

'+ Bt $oORMT e Rl Y Whsrcs

001570 0C00I2 ~ S ) :

607 %15?2 géoms MOV R1,RS :RESTORE RS

808 001574 (021537 000000 CMP (RS),38COUNT  :IS THE TEST NUMBER EQUAL TO THE COUNTER?

609 001600 001371 BNE 13 :1F NOT GG TO THE HLT ABOVE

810 gxsoa 1S ING (RS)

&11 00160M m;g; SCOPEL

gl2 001806 021 000037 CHP (RS), 837 :HAS THE CONTENTS OF REGISTERS BEEN

813 :SHIFTED LEFT BY 14. AND RIGHT BY I4.?

614 001612 19 8GE 8s |

815 00161Y 006 INC JETEMPR ‘

816 001620 7 176164 ASL TEMP3 - ;SHIFT TEMP3 LEFT :

£17 001824 021527 000020 CMP (RS), 820 *HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY 4.7

Ei% migaag 900468 aR- nggr F SO GO TO NEGAT AND INITIATE RIGHT SHIFT

820 %153% % 000176 g: g%.rsrar Eir S0 GO AND CONTINUE %HE REST OF THE PROGRAM

g21 001640 01070! REGS: SCOPEL .

g22 001642 01050! : MOV RS,R! _:SAVE RS

623 0016¥4 013705 000004 MOV astemPy, %5 * 1LOAD RS WITH THE CONTENTS OF TEMPI

624 001650 032737 00CO0L 018336 BIT 8],983PASS :IS IT AN EVEN PASS ? =

£25 001656 0OC1004 BNE B :IF NOT THEN GO TO 2%

826 001660 013700 000008 MOV JSTEMP2,RO :OTHERWISE EXECUTE ASH INSTRUCTION IN MODE O

827 001664 072500 ASH RO, RS 1USING RS . |

628 001666 000402 : =] 43

829 001670 072567 176112 2§: RSH_ TEMP2,%S :SHIFT RS BY THE NUMBER SPECIFIED BY TEMP2

830 UCUIS7% 108737 UUuUUUS 43 MFPS JEPSWORD :SAVE PS '

€31 001700 123737 000012 000002 CMPE  O8TEMPH, 28PSWORD; IS PS = TEMPY ?

§32 001706 001403 BEQ .+10 \_

£33 001710 004767 014472 JSR FC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE

34 :THE PS IS NOT EQUAL TO O.

£35 001714 000013 13 -

636 00171s 00S237 000000 ING S8COUNT .

£37 001722 023705 003010 CMP s8TEMP3, %5 +1S THE RESULT IN RS EQUAL TO TEMP2?

£38 001726 001403 BEQ .+10

£33 001730 &s: -

§40 001730 00N787 014852 JSR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE

g41 :EITHER INCORRECT RS OR INCORRECT SEGUENCE

g42 001734 000014 14 ‘ :

€43 00173 021137 000000 CMP (R1;,38COUNT  :IS THE TEST NUMBER EQUAL TO THE COUNTER?

gyd 001742 001372 - ENE 13 :IF NOT GO TO THE HWLT ABOVE

g4YS 001744 010105 MOV Rl,RS RESTORE RS

gyt 001746 005215 INC (RS)

g47 001780 010701 SCOPE 1 |

g48 001782 021827 000037 Cop (RE), 837 +HAS THE ccmgge OF RESISTERS BEEN SHIFTED

E49 :LEFT BY IN. RIGHT BY 14.7?

€S0 001756 002010 BGE a3 :IF SO GO AND CONTINUE THE REST OF THE PROGRAM

eS! 001760 00S237 000006 INC ?arsnpa

652 001764 006357 176020 ASL EMP3 :SHIFT TEMP3 LEFT -

£E3 %mo 021€2? (000020 CHP (RS), 820 ;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY I4.°

ES4 001774 001405 BEQ NEGAT :IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT

eS8 001776 ooowo; : BF 108 >

€S 002000 004767 000032 - es: JSR PC,TST3? *

£S7 002004 000167 176656 108: JW¥  START ;G0 BACK TO START .
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RSH INSTRUCTION TESTS

040000
06087
008037

000006
100000
00o01!

000004
o1

000008
000012

000QaCe
000004

gogole

000004
000006
000010

K

000004
000006

000012

000010
000012

NEGAT:

. T8737:

TSTS0:

TSTHL:

TSTN2:

TST43:

TSTHN:

TSTuS:

- TSTHG:

TSTY?:

MUV

D02

840000, J8TEMPL  ; TEMP1=40000
mrﬁ"go TEMP2 ; TE"’S 2177762

;Am 37 IT_TEST 377
{ [
? 0 I? HEN TRY TEST 40
a-rsnpx
8] .hgursnpa ?uxrrso BY 16
sTEMP3
82 ,98TEMPY :AND PS=4
(RS), 840 :15 IT TEST 407
STy 6‘ T THEN TRY TEST w1
ggrznpa SHIFTED BY 0=0 AND PS=y4
(RS), 841 : 15 I TEST 41°
TST42 :IF NOT THEN TRY TEST 42
3615..aor£npa :0 SHIFTED BY -16.=0 ANC P
(RS}, 842 :1S IT TEST 427
15743 +1F NOT THEN TRY TEST 43 .
£100000, 38 TEMP! ;100000
STENP :SHIFTED BY -15
SSTEMP i1s=-1
'é“ JQ8TEMPY .- sAND PS=10
(RS) 843 .15 1T TES
TST4Y :IF NOT HEN xr NOT THEN TRY TEST 44
nasasa ISTEMP] ;125262
8-1,38TEMP2 :SHIFTED BY -1
;ésésas IsTEMP3 ;15=152525 nuo PS=10
(RS), #44 ,{ I7 T;
TSTHS - :IF NOT THEN fnv TEST 45
81, ISTEMP2 : 126252 SHIFTED BY 1
oﬁa JsTEMP3 ;15252524
PC asT t MPY :AND FS=3
(RS), 845 +1S IT TEST 45?
rsrué :IF NOT THEN TRY TEST 4&
-2,3 ; ;%asasa SHIFTED BY -2
usSasa J8TEMP3 ; IS=165282
3&‘ CORTEMPY :AND PS=11
(RS), 846 ;1S 1T TEST 4&?
TST4? :IF NOT THEN TRY TEST 47
-1, 38TEMP] =1
816, ,d8TEMP2  :SHIFTED BY 1S.
3 Shp +15=0
gg STEMPH sAND PS=7
(RS) , 847 :1S IT TEST 47°
15750 :IF NOT THEN TRY TEST 50
SNTEMP2 :=1 SHIFTED BY 15
100000, 38 TEMP3 : 15=100000
811, JsTEMPY :AND PS=11

e




OFKRCR MACYll 27(732) 08-SEP-T& 18:20 PAGE 17

DFKACA.P11 ASH INSTRUCTION TESTS
714 RIS
718 4 021527 0000SO TSTSO: M
716 0033 1 BNE
717 Qog3re Qierar A3r7r pooooy MOV
718 002400 012737 000013 00002 MOV
713 0040 000207 RTS
720 Q020 Geise7 0000SI ENTS1: ¢
7el 14 001403 BEQ
[92 0246 004767 01376 ISR
{
76} 002422 0000IS 15
726 002424 0057 15T
767 002436 Q12704 17777 MOV
738 002432 Ql8r02 00004 MOV
729 002436 013703 00002% MOV

EO2

;IS IT_TEST SO
; IF_NOT THEN TRY TEST
.13 77

&

( 5)1050

7777 SHIFTED BY IS. IS-IOOOOO
PS=13

ENTS
8137777, 9TEMPL
;xa IRTENPY

(nsa , 451 :1S IT ENTERING TEST S1°
PC,SHLT RROR TO TH HALT ROUTINE
?Egr NUMBER cbo?go
(SP)+ ~ sRESTORE STACK POINTER

8-7,%4
oSl “e
852, %3
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RSH INSTRUCTION TESTS

01

012700 12%252
072077 175272
000002
122737 000010
004767 013632

177525
004767 013616

000021
021527 0000S2

000002

TSTS2: - SCOPEL-
, MOV

(RERRRRERERRERRERRERRRRERRRERARRRERRRERRRRRRRRRR R RERRRRRRRERRERRR2E

;TEST:S1 11/34 ASH 125252 SHIFTED BY #5 = 52500 PS = 3
It I PR R R T L I e e A A TR R e R  a

TSTSI: SCSPEI

MO 8125252, %1 :LOAD Rl WITH 125252
ASH 85, %1 :SHIFT R1 BY #5
MFP o ;;Avg g
55"3 '31 $2SWORD IS THE PS 37
JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
” :THE PS IS NOT'EQUAL TO 23
CMP 52500, %1 :1S THE RESULT 525007
. BEQ .+10

X JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
' :RI IS NOT EQUAL TO S2500 OR INCORRECT SEQUENCE
CHP (RS), #51 1S STESTN = 851
% %35) :IF NOT YHEN GO TO HLT RBOVE

SREERRERRREFEEREERRFERRRERFERRF RS R R R R RRRRFERRRRRERRE R R R RBERERERER

:TEST:52 11734 ASH 125252 SHIFTED BY @S2 = 177825 PS = 10
;!!!lillli!l!i!l!ilii!lllliililillll!llll!li!lil!lllli{li{l{{!liiil!!

8125252, %0 sLOAD RO WITH 125252
352, %0 :

ASH :SHIFT RO BY @52
MFPS  98PSWORD ;?wz £
gggs :igoaapsuom :1S THE PS 107
JSR PC,SHLT :GEEN AN ERROR, GO TO T™ HALT ROUTINE
20 ;s THE PS IS NOT EQUAL T0 10
, CHP 177525, %0 :1S THE RESULT 177525?
# BEQ .+10
: JSR PC,SHLT :SEEN AN ERROR cg TO TH HALT ROUTI
% :RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
CMP (RS), 452 :1S STESTN = 852
% %35) +IF NOT THEN GO TO HLT ABOVE
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SRR T30 30003006 0 00 00 3000 00 0 0000 30 0000 30 30 0000 30 36 0030 00 30 30 0 000 36 30 00 00 30 30 06 00 30 36 36 36 30 36 36 3 30 6 %

;TEST:53 11734 _ ASH 125252 SHIFTED BY JuSl = 177525 PS = 10
i!i!l**l!!li*!*!*i*!l*llliii!li!!lil*!i!li**lii!!llllil!lll!l!*i!lll

0C2e02 010701 TSTS3: SCOPE!

MOV 8125252, %0 0 WITH 125252
005600 055030 OGD03G | oM DA &J‘?#‘So Y
0026I4 106737 000002 MFPS acpsaoao
fz 7 000010 000002 Ega cxooaopsuono xs THE PS 107

002630 004767 013552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT'EQUAL TO 10

002634 000022 . 22

022700 177525 CMP $177525, %0 +1S THE RESULT 1775257
42 001403 e BEQ .+10

002644 004767 013536 JSR PC,SHLT +SEE ; GO TO TH HALT ROUTINE
no rs NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

002650 000023 23

0GeeS2 021527 0C00S3 CMP (RS), #53 HE STESTN = #53

002656 001372 BNE 18 :IF NOT THEN GO TO HLT ABOVE

002860 00S215 INC (RS)

e
sTEST:54  11/34 RSH 125252 SHIFTED BY (2) = 177525 PS = 10
DEEEEEEREE R R R R R R R RN RN R R RN R ER

SRt AR R L SR D
3 °
:

62 010701 TSTS4: SCOPEL
- 810 00266M 012700 1285252 MOV #125252, %0 ;LOAD RO WITH 125252
811 002670 072012 y ASH (2) g 'SHIFT RO BY (2)
axg 002672 106737 000002 MFPS  dsPSWORD VE PS .
813 002676 122737 000010 000002 CMPB  #10, 98PSWORD .xs THE PS 107 5
B4 002704 0014 geo +10
81S 002706 004767 013474 .. : R PC,SHLT - ;?EEN AN ERROR, GO TO TH HALT ROUTINE
816 1 - - :THE PS IS NOT'EQUAL TO 10
917 002712 - 000024 24 A
axg 14 8537 177525 CMP 8177525, %0 +15 THE RESULT 1775257
81 720 0014 BEQ .+10
820 002722 18:
821 002722 004767 013460 JSR PC,SHLT %mmmmmmmmumg
ggg o - RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
824 002730 021527 000OSY CMP (RS), #54 IS STESTN = #54
825 002734 001372 BNE 18 :IF NOT 1uzn GO TO HLT ABOVE
B2t 002736 005215 INC (RS)
827
2
- |
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ASH INSTRUC ESTS

SH
CMP
JSR
2b
CMP
BEQ
JSR
e’
CMP

BNE
INC

PC,SHLT

HOZ

s HRREREREEERRELRERRRRER RN R R RERRRERRRRRDRERRERRRRERERERERRE LR

s TEST:55 3
!!*!*!lli!*!l!iliii*li*ii!il*!*!il**!!llii*iilll*l*l**lllilill!i*lil

TSTSS: SCOPE!

125252 SHIFTED BY (2)+ = 177525 PS = 10

#l125252, %0 ;LOAD RO WITH 125252
(2)§agg

J#PSWORD
IIOOBOPSHORD
PC,SHLT

%HIFT RO BY (2)+
§ PS
S THE PS 107

; SEEN AN ERROR, GO TO_TH HALT ROUTINE
s THE PS IS NOT EQUAL TO 10

lii?SES,%O ;1S THE RESULT 1775257

SEEN AN ERROR, GO TO TH HALT ROUTINE
sRO IS NOT EQUAL TO 177525 OR INCORRECT SEGUENCE

1S STESTN = #55
:IF NOT YHEN GO TO HLT RBOVE

;Eg?*gz**iiiiiliii.llliiilfil!ﬁ*iiili!*liii*!il!i!**i!il!illil!l*iil

1734 ASH 125252 SHIFTED BY -(2) = 177525 PS = 10

ll!llllllllil!!ll!lilll!Il{lilillllllli!l{llll!!llllillililillililll

SCOPEL

MOV #125252, %0 :LOAD RO WITH 125252

ASH -(2),%0 :SHIFT RO BY =(2)

MFPS  JaP snv; eg

ggoba oulzbwsuom :15 THE PS 107

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

b _ ruspsxsuorzmroo

CHP 8177525, %0 :1S THE RESULT 1775257

EEQ .+10

ISR PC,SHLT GO TO TH mu nou

. s NO Eouh. 10 177525 OR oﬁﬁcr SEQUENCE

FMP (RS), #56 STESTN = #56

?rn% 18 :IF NOT h-l-:n GO TO MLT ABOVE
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880 lI!lllllllll»ll!i!ll'llllilﬂ!lillililllll*lllilllllllllllllllll“!!ll

ggé tTEST:57 11/34  ASH 125252 SHIFTED BY 2(3) = 177252 PS = 11
E i!il!ll"lil'llll'll!llill!i!“lii!lllllllliil!llllllilii!l"ll*lll!lii!ii

% 00307y giom . 1S157: ggopn e o ;

B R b 15 e

106 106737 000002 ans awsbono

gg i a;zag 000011 000002 gws uﬁoanpsuoao xs TI-E PS 117

890 003122 004767 013260 ' PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

835 :THE PS IS NOT'EQUAL TO 11

0031 3gooaa 32

833 0031 2700 177252 CHP 8177252, %0 :1S THE RESULT 1772527

894 003134 001403 BEG .+10

895 003136 18:

896 003136 004767 013244 JSR PC,SHLT :SEZN AN ERROR, GO TO TH HALT ROUTINE

87 . - RO IS NOT EQUAL TO 177252 OR INCORRECT SEQUENCE

S% 003144 02l 000057 CHP (RS), #57 TESTN = 857

900 003150 001372 BNE 1$ :IF NOT hcu co TO HLT ABOVE

901 003152 005215 INC (RS)

902

a0

S90S l!l!ll“ll“l"!llll“ill“llii“"l'lm«!l!il““"ll“ﬂiiliiﬂlﬂ!

906 :TEST:60 11734 ASH 125252 SHIFTED BY a(3) = 177525 PS = 10

g&z l»!llﬂll“ll!H»!lllll!“!ﬂl{"liﬂulﬂiiﬂilHill““ll!"lﬁlﬂli

909 003154 010701 TSTe0: SCOPEL

910 0C315e 012700 653535 MOV #125252,%0 sLOAD RO WITH 1

911 003162 072073 ASH acam %0’ :SHIFT RO BY a(3)

912 003166 106737 000002 MFPS  S8PSWORD ?w; PS

913 003172 000010 . 0ODOOZ CMPB 810, 38PSWORD S THE PS 107

3l 30302 Bges I

9]g 767 013200 PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

916 :THE PS IS NOT EQUAL TO 10

3%7 onae?g ooogaq 177525 3?9 umas %0 :1S THE RESULT 177525?

i el B LB - '

S21 003216 004767 013164 : JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

gg - . RO IS NOT EQUAL TO msas OR INCORRECT SEQUENCE

934 wuuaaaaa 000080 CHP (RS), 860 g S STESTN = #60 .

925 003230 001372 BNE 18 :IF NOT ’.fven GO TO HLT RBGVE

ggg; 003232 005215 INC (RS)

928

i
0
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ASH INSTRUCTION TESTS

125282

000002
000010
013122

177525

000002

013106 ..

0CO0061

128aese
000002
000010
013044
177525
013030

000062

JOe

3 BRI I I I 30 T 00 3000 3 T30 330 36 300006 30 00 0030 30 020 0 0 0 00 00 00 00 00 30 000 0

s TEST:61

11734 RSH

125252 SHIFTED BY a(3)+ = 177S¢S PS = 10

!!ilillllll!illlll!l!lllili‘l!lllllilllilI!ll!ililill*li!ii!!liiilii

TSTBl:

18:

SCOPE!
MoV

P

CMPB
BEQ
JSR

36
CMP
BEQ .

8125252, %0 ;LOAD RO WITH 125252

HIFT RO BY 3(3)+
g AVE PS

#10, 38PSWORD ;1S THE PS 107

(RS), 86l
18
(RS)

;SEEN_AN_ERROR, GO TO_TH HALT ROUTINE
s THE PS IS NOT EQUAL TO 10

$17752S, %0 ;IS THE RESULT 1775257

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

STESTN = 61
:IF NOT 'men GO TO HLT ABOVE

3 SRR I I I I TR T I I0 3030 30 36 30 30 36 30 30 00 36 36 06 36 36 36 030 00 30 30 30 030 00 0 0 0000 000 00 0 000 00 0 0 0 0 30 I

STEST:62 11734 ASH 125252 SHIFTED BY @-(3) = 177528 PS = 10
***Ii!l!*ll!l*iliiil*illl**lil!*i*!*&!**iil*il!*!!i!ll*i!iili!*!l**l
1STB2: SCOPEL
T Y
MFPS ?wsubﬁo '20VE PS
CMPB lltll J8PSWORD ;IS THE PS 107
PC,SHLT sSEEN AN ERROR, GO ro m HALT ROUTINE
- :THE PS IS NOT EQUAL TO 10
CHP 8177525, %0 : IS THE RESULT 1775257
18 BEQ .+10
: JSR PC,SHLT N AN TO TH HALT ROUTI
. IS NO OUth% 77525 OR INCORRECT SEQUENCE
CMP (RS), #62 :1S STESTN = #62
% %35) 3 IF NOT tHEN G0 TO HLT ABOVE

-t Ty,
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DFKRCA.P11 ASHC INSTRUCTION TESTS

530 3 FEEELPULBRES DL LR BR LA R LR B HERER
981 : ASHC INSTRUCTION TESTS
gs o RT3 000 36000 36 06 200 26 00 06 36 06 36 36 6 6 36 % 36 %
934
§33
986 sRREERRRERRER
987 : TESTS £3-157
988 s REERERERERER
339
3990
993 003370 012737 000062 0OOOOO MOV 862, J¥COUNT
933 003376 00S037 00000Y CLR ATEMPL : TEMP1=
994 (003402 012737 000001 00000 MOV 81, INTEMP2 : TEMP2=1
935 (003410 000010 CLR astEMP : TEMP3=0
33 a0 D273, 00005 ooy Sh 8 ShrENeS  TENEa=d
% 0034 305037 83001& : CLR OC?EHPE :0 1 Eufrrso BY 0=0 1, PS=0
1000 003432 010703 - * "REGO1: SCOPE3 k]
1001 003434 010S02 MOV RS,R2 - +SAVE RS
1002 003436 013700 000004 Mov . astEMPL, %0 :PLACE THE CONTENTS OF TEMP1 IN REGISTER O
1003 003442 013701 000006 MOV O¥TEMP2,%0!1  ;PLACE THE CONTENTS OF TEMP2 IN REGISTER I
1004 003446 000241 cL
1005 003450 032737 000001 016336 BI 81, J4SPASS :1S IT AN EVEN PASS ? |
1006 003456 001004 BNE 28 :IF NOT THEN GO TC 2% ,
1007 003460 013705 000010 MOV ggrsm,ns :OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O
1008 003464 353005 ASHC ,RO :USING RO
1009 003466 000402 BR 4§
1010 003470 073067 174314 2%: ASHC  TEMP3, % :ASHC REGISTER 0 BY THE CONTENTS OF TEMP3
1011 003474 106737 000002 43: MFPS  QPSW :SAVE PS |
1012 003S00 123737 000016 000002 CMPB  QISTEMPH, J8PSWORD; COMPARE PS WITH THE CONTENTS OF TEMPG
1013 003506 001403 BEQ .+10 -
1014 003510 004767 012672 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
1015 = s WRONG PS
1016 003514 00004 42
1017 003516 00S237 000000 INC 8COUNT

- 1018 003522 023700 000012 CMP JSTEMPY, %0 :1S THE RESULT IN RO SAME RS TEMPY?
1030 003238 004767 012652 R scswr N AN ERR T0 TH HALT ROUTINE
1%- . 5355& ae%u.?"m%
1 003534 000043 43
1023 023701 000014 CMP ISTEMPS, %1 . *g THE RESULT IN R1 SAME RS nf‘ms? an
i% 003542 001403 BEQ .+10 : m’é’&ﬁ"” SHIFTED BY TEMP3=TEMPY4 TEMPS
1026 DO3544 004767 012836 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1027 ‘" s WRONG RESULT IN R1
1028 003550 . 4y
1029 003552 010205 - - MOV R2,RS :RESTORE RS
1030 003554 351537 000000 CMP (R5),38COUNT ;IS TEST NUMBER=COUNTER?
1031 0035 140; BEQ .+1g”_

: i% ooasgg 004767 012620 ~ JSR PC,SHLT ;ggzn AN ERROR, GO TO TH HALT ROUTINE
1034 003566 00O04S 45
1035 003570 00S21E INC (RS)

» -
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DFKACA.P11  ~ ASHC INSTRUCTION TESTS -
1 003572 021527 000160 CMP (RS), #1860 sHAVE THE FIRST 159 TEST BEEN EXECUTED?
195 35%% G8a55e BGE &S 'YES
1038 ﬁ%‘n 000010 gng JSTEMPI |
1333 35 000014 bL ISTEMPS nomrs TEMPS LEFT BY 1 PLACE
1041 masx 006137 noooga R JSTEMPY * $°¥°§ CARRY FROM TEMPS IN TEMPS
1042 021527 000121 ¢ (RS), 8121 S 1 T 1217
1043 uuasae 001004 BNE REG23
1%' %ﬁ 7 10 - JSR RY,RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
1 767 40 BS: ISR %7, 16T160
1046 003634 010701 REG23: SCOPEL
1047 003636 013702 0O0000Y MOV 5-"3 :PLACE THE comsmg TEMP] crera 2
{g:g % . 000006 geg aorsnp %'l  ;PLACE THE CONTENTS OF TEMP2 IN REGISTER 3
1050 032737 000001 016336 BIT n J4SPASS : 1S xr m svsu PASS ?
1051 003656 001004 BNE IF N N GO TO 2%

| 1@5 000010 MOV Sqrsgpa ,RY ,om:auagc EXECUTE ASHC INSTRUCTION IN MODE O
1 4 ASHC
1054 000402 BR
1055 ﬁm 073267 174114 2%: ASHC TEHP365 nsnc ggcxsrsn 2 BY THE CONTETNS OF TEMP3
10886 74 106737 000002 4§: MFPS  sPSH
1057 003700 1 000016 000002 CMPB amznps aupsuonn coum-: PS WITH THE CONTENTS OF TEMPS
1058 003706 mwn; BEQ +10
1059 003710 004767 012472 JSR PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
1060 :WRONG PS
1061 003714 00004 46
1062 003716 005237 000COD INC 28COUNT
1063 003722 023702 000012 CHP ISTENPY, %2 :1S THE RESULT IN R2 SAME AS TEMPY?
1084 003726 001403 BEQ .+10
1065 003730 004767 012452 JSR PC, SHLT sesn AN ERROR co TO TH HALT ROUTINE
1066 WRONG RESULT IN R
1067 003734 000047 47
1068 00: 023703 000014 CMP JSTEMPS, %3 : 1S THE RESULT IN R3 SAME AS TEMPS?
{ggg 003742 001403 BEG .+10 mgﬂs reg;gs SHIFTED BY TEMP3=TEMPY TEMPS
1071 003744 004767 012436 ISR PC,SHLT sesn AN ERROR co TO TH HALT ROUTINE
1072 WRONG RESULT 1IN
1073 003750 ~ 50
1074 003752 021537 000000 CHP (RS) J8COUNT ,xs TEST NUMBER=COUNTER?

1075 003756 onwo; BEQ
igz’g 003760 004767 012422 JSR PC suu ;gsen AN ERROR, GO TO TH HALT ROUTINE
1078 Ooa7ee OQSolE e (s

37

1080 %ﬂn 33?‘33; 000160 CMP (RS), 8160 sHAVE THE FIRST 159 TEST BEEN EXECUTED? |
1081 003774 002014 BGE BS :YES
1082 003776 005237 000010 INC STEMP3
1083 004002 uooag; CLC
1084 004004 006137 000014 ROL JSTEMPS :ROTATE TEMPS LEFT BY 1 PLACE
1085 004010 006137 000012 ROL ISTEMPY : INTRODUCE CARRY FROM TEMPS IN TEMPY
1086 004014 021527 000121 CMP (RS), 8121 :1S IT TEST 1217
1087 004020 001004 BNE  REGYS
1088 004467 000212 JSR RY, RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
1089 004026 004767 000242 B%: .rgn %7, TST160 .
1090 032 010701 REGYS: SCOPEL
1081 034 010s01 MOV RS,R1 :SAVE RS
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000004
0000086

000001
000010
173714
000002
000016
012272
000000
000012
012252

000014
012236
000000
Oleeez

000160
000010

018336

000002

2s:

MO2

JNTEMPL, "N
aorsnpa 41

81, J8SPASS
2§’

J#TEMP3,R0
R ,RY

TEHPS %4

;PLACE THE CONTENTS OF TEMP1 IN REGISTER M
sPLACE THE CONTENTS OF TEMP2 IN REGISTER S

;1S IT AN EVEN PRSS !
s IF NOT THEN GO TO 2%

:OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE O
sUSING RY

;ASHC REGISTER 4 BY THE CONTENTS OF TEMP3

J8PSWORD sSAVE PS
BITEMPB ,d4PSWORD; COMPARE PS WITH THE CONTENTS OF TEMPG .

BC, SHLT
28COUNT
SATENPY, 24
PC,SHLT
JUTEMPS, %S
.+10
PC,SHLT

(Rlé JICOUNT
PC,SHLT

R1,RS
(RS)
(RS), 8160
()
JRTEMP3

;SEEN AN ERROR, GO TO TH HALT ROUTINE
; ONG PS |
;IS THE RESULT IN R4 SAME RS TEMPY?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG RESULT IN Ry

:1S THE RESULT IN RS SAME AS TEMPS?
s TEMP1 TEMP2 SHIFTED BY TEMP3=TEMPY4 TEMPS
:AND PS=TEMP®

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG RESULT IN RS

+1S TEST NUMBER=COUNTER?

;ggm AN ERROR, GO TO TH HALT ROUTINE
’ »

:RESTORE RS
SHAVE THE FIRST 159 TEST BEEN EXECUTED?
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004204 000241 CLC
004206

[—
B

11 006137 000014 ROL J$TEMPS :ROTATE TEMPS LEFT BY 1 PLACE
1131 004212 006137 000012 ROL JSTEMPY + INTRODUCE CARRY' FROM rsnps IN TEMPY
1132 004216 021527 000121 CMP (RS), #121 +1S IT TEST 1217
1133 004222 001004 BNE 8%
1139 004224 004467 000010 JSR . - RY,RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFT
1135 004230 004767 0O000YO0 6$: - JSR %7. 1ST160
1136 004234 000167 177172 83: IMP RESO] v
1137 $a? RITSH: CMP (RY)+, (R4)+ smpmmromemnnmrm
1138 42 012737 040000 000004 MOV $40000, J8TEMRL rsn
1139 004250 00S037 000006 CLR UTEMPR s TEMP2=0
1140 004254 uxggg7 177742 000010 MOV $-30.,J#TEMP3  ; TEMP3=-30
1141 004252 00S037 000012 - CLR JETEMPY s TEMPY=0
1142 gg:ess 383537 000014 INC 4 TEMPS s TEMPS=1
1143 272 04 RTS RY
1144 004274 021527 000160 TST160: CMP (n5) #8160 ;IS IT TEST 160
1145 004300 001010 BNE ST1b1 : IF NOT THEN TRY TEST 16l
1149 302 ggoouq CLR urenpx :0 0 SHIFTED BY O
114 30c 0050 0012 CLR $TEMPY :15 EQUQL T000
1148 004312 012737 0OODOY 000016 MOV cq J4TEMPE :AND PS=4
1149 004320 000207 RY
1150 004322 021527 000161 TST161: CMP (RS) 8161 ;IS IT TEST 161
1151 004326 001004 ENE TST162 o
1152 330 012737 177746 000010 MOV u-sa JSTEMP3 ;0 O SHIFTED BY -32=0 0, PS=Y4
1153 004336 000207 RTS
1154 004340 021527 000162 TST162: CMP (RS) 8162 .15 IT TEST 162
1155 004344 001004 BNE 157163 :IF NOT THEN TRY TEST 163
1156 004346 012737 000032 000010 MOV #32, JETEMP3 :0 0 SHIFTED BY 32=0 0, PS=4
1157 004254 000207 RTS %7 |
1158 §04356 021527 000163 TST163: CMP (RS), #163 +1S IT TEST 1637
1159 004362 001016 BNE  TST16M ;IF_NOT THEN TRY TEST 164
1160 004384 012737 052525 0ODOOY MOV usasas acTEnPl : 52525 )
1161 004372 012737 177760 000010 MOV 0-1 J4TEMP3  ;SHIFTED BY -16.
1162 004400 00S037 000012 CLR SUTEMPY
1163 004404 012737 052525 (000014 MOV csases JSTEMPS ;IS EQUAL TO O 52525
1164 004412 00S037 000016 CLR IR TENPS :AND PS = O
1165 004416 000207 RTS %7
1166 004420 021527 000164 TST164: CMP (RS)’ 4164 :1S IT TEST 1647
1167 004424 0G10I4 BNE TST16S :IF NOT THEN TRY TEST 165
1168 00W¥2e 012737 125252 00000 MOV axasasa JUTEMPL ;125252 O SHIFTED BY -16.
ii?g 333333 3?3933 ?ggoéa 000014 353 J4TEMPS ;1S EQUAL TO -1 125252
1171 004446 012737 000515 000016 MOV ﬁsgsgtnps :AND PS=10
1172 004454 000207 RTS
1173 56 021527 000165 . TST165: CMP (ns) $165 :1S IT TEST 165?
. 1174 004462 001007 BNE  TST1EG s IF NOT THEN TRY TEST 166
1175 § 012737 177777 000004 MOV 8-1,38TEMPL :=1 0 SHIFTED BY -1
1176 004472 012737 177777 0000IM MOV a—l ' JUTEMPS 1S EQUAL TO -1 =1, AND PS=10
1177 004500 000207 RTS
1178 004502 021527 000166 TST166: CMP (RS) 8166 : 1S IT TEST 1667
1179 004506 001011 BNE TST167 :IF NOT THEN TRY' TEST 167
1180 004510 012737 100000 00004 MOV sxoooon JSTEMP1 ;100000 O
1181 16 012737 177740 000010 MOV ~u- JTEMP3 ~ ;SHIFTED av -32 IS EQUAL TO =1 =1
1182 (D4S24 00S237 (000016 INC J8TE nﬁ :AND PS=1
1183 0S4S30 090207 RTS %7
1189 004532 021527 000167 TST167: CMP (RS), 8167 : IS IT TEST 1677
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ION TESTS

000018

000036
000012

ooogi2
000acs

00Ca0e

000012
. 0C001M

000004

0Co01s

000004

000016

TST170:

TSTI?1:

TST172:

TST173:
TST174:

TST17%:

ENTL?

:20 PRGE 27

BO3

1ST170 +IF NOT THEN TRY TEST 170
JNTEMP
icTEHP 10 -l
? ASTEMP3 suxrreo BY 16.
TS EQUAL TO -1 O

aoTEHPB ;nuo PS=12
:ns> 8170 +1S IT TEST 1707
157121 :IF NOT THEN TRY r:sr 171
8125252, 3sTEMPZ :0 125252 SHIFTED BY
oxasa,~.aorsnpq ;1S EQUAL TO 125252 o nno PS=12
(RS) 8171 :15 IT TEST 1717

sT172 :IF NOT THEN TRY TEST 172
a TEMP3 - :0 125252 SHIFTED 8Y 15
852525, J8TEMPY ;1S EQUAL TO 5252
3;r£npé sAND PS=0 _
(RS), 8172 :1S IT TEST 1727
Tsré;g :IF NOT THEN TRY TEST 173
#52528 JsTEMP2 :0 52525
57 sTEMP3 :SHIFTED BY 16. IS EGUAL TO 52525 0, AND PS=2
(RS), 8173 ;15 1T TEST 173
ST ' IF nor THEN TRY TEST 174
8-1,J8TEMP2 :0 - :

EMP snxrrso BY 1S.

8TEMP3 :
877777, I8 TEMPY
cxooooo 28TEMPS : 1S EQUAL TO 77777 10000C. AND PS=0

(RS)’gl?H ;1S IT_TEST 174?

TST :IF NOT THEN TRY TEST 175
8100000, IsTEMP!
S4TEMP : 100000 -a snxrreo BY 1S.
J8TENM +1S EQUAL TO 77777 2
na J8TEMPS :AND PS=2
(RS) 8175 :1S IT TEST 175?
ENT1%6 :IF NOT THEN TRY TEST !
-1, 38TEMP
INTENP2 =1 0

'SRIFTED BY 16.
115 EQUAL TO 00
+AND PS=7

e e)
L& _J
— -4
g
'U%
LW

o? JS8TEMPE
(3?6 , 8176 :IS THE PROGRM ENTERING TEST 178&?
PC,SHLT +SEEN AN ERROR, GO TO TH MALT ROUTINE

:TEST NUMSER GOOFED

" (SP)+ {RESTORE STRCK PQINTER
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MACY1l 27(732)

DFKRACA
DFKRCA.P1L
1238
1239
1240
1241
1242 - DOSO3N
1e43 (00S03%
}S:g 00S0N2
1246 005028
1247 D0SOSH
1c48 00S060
1249 005066
1250 00S07
1251
1252 C00S074
1253 00S076
1284 00S102
1255 Q0S104
1258
1257 00S110 .
1258 00Sl112
1289 Q00S1l6
-126C 00S120
1261
1262 0Q0Si24
1263 00Sich
1284
1288
1288
1287
1268
1268
1270 00S:i30
1271 00Sl1l3e
1272 00S136
1273 00Si42
1274 Q00S144
1275 00S1S0
1276 005154
1277 Q0sSie2
1278 Q0OSI1gM
1278
1280 00S170
. 128l 0O0S17e
ie82 O00E176
1283 005200
ic84
1252 gos204
ic 005206
1287 (00se2le
ieg8 00Se
1288
1290 00S220
%591 00sSe22
oC
12

0
W

RSHC INSTRUCTION TESTS

0063
Oel527
001403
004767
002064
00szls

08-SEP-76__18:20 PAGE 28

000000
0000C01

000010
000002
0006300
011312
000400
011276

000178
0llees

000000
177777

000017
000002
000011

011216

100000
011202

£oo177

011166

000002

o000Ce

CO3

(ERRERRRRRRERRERRRERRER R R RRE AR R R R R R LR AR R AR PR AR AR RS HRRERR2E

:TEST: 176

1 SHIFTED BY 8. = 400 PS'= 0

(ERRERR RN R F R R R R R R R R R SRR RN R R R R R R RN R R RN SRR RN AR RRRRRRERRERRERRIR R 2R

TST176: SCOPE!
MOV

sDUMMY , %1 :LOAD R1 WITH DUMMY

ol %101 :LOAD RI'1 WITH I

8., %1 sSHIFT R1,RI!1 BY 8.

28PSWORD SAVE PS

09 g:PSuORD IS THEPS 07

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT'EQUAL TO O

'3?3’%1 1S THE RESULT 4007 .

PC,SHLT :SEEN AN ERROR, G2 TO TH HALT ROUTINE

. :R1 IS NOT EQUAL TC 400

(RS), 8176 .15 STESTN = 8178”

.+10 +1F NOT THEN GO TO WLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
;TEST IS IN WRONG SEQUENCE

(RS)

CEEFEEREREREREREER RN LR R RRERRER R R RRERRERRREFRRFERRERRRERR AR RRERRE

s TEST: 177

-1 SHIFTED BY 1S. = 100000 PS = 1l

(ERERERRRERERR R R R RN R R PR R R R R RS R AR R R R RN R R LR R R RERR AR R RERREREE

TST177: SCOPE!
MOV-

sDUMMY, %3 :LOAD R3 WITH DUMMY
s-1,%311 :LOAD R3'! WITH -1
815.,%3 :SHIFT R3,R3'l BY 1S.
38PSUORD <SAVE PS

liloacPSHORD 1S THE PS 117

e
_PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

:THE PS IS NOT EGUAL TO 1l

’uiggooo,za +1S THE RESULT 100000°

PC,SHLT +SEEN AN ERROR, GO TQ TH HALT ROUTINE
;R3 IS NOT EQUAL TO 100000
(RS), 8177 1S STESTN = #177? |
.+10 +1F NOT YHEN GO TO MLT :
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
i TEST IS IN KRONG SEQUENCE
(RS) A
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00418

DOS414
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ASHC INSTRUCTION TESTS

8%2 S 000000
0Sases
ggggg; 000000

000002
682783 000000 (COO0%2
14
004767 011120

022705 0S2sas

004767 011104

gl woem
004767 011085

000000

01270i 020010
3187 177763
106737 00C0Ce
000000 Cgooce

004767 011022

000070
022701 00010l
004767 011008

021527 000201
B
767 010772

08-SEP-76__18:20 PAGE 29

DO3

(EERERRRREERRRERREERRERREERRRRRERERRRRERRRRRRRRRFEREERERRARRFEARRRE2S

S252S SHIFTED BY 0 = 52525 PS = 0 ‘
I T e e e et R T T R R s s

; TEST:200

TST200: SCOPEI
. MOV

RS,R!
sDUMMY , %S
852525, %5

80, %5
J8PSWORD

:SAVE RS
:LOAD RS WITH DUMMY
'l ;LORD RS!! WITH S2%52S

;SHIFT RS,RS!1 BY O
;SAVE PS5

s SAVE .
IEISOPSHORD ;1S THE PS O

PC,SHLT
8525285, %8S
.+10
PC,SHLT
R1,RS
(RS), 8200
.+10
PC,SHLT

(RS)

;SEEN AN ERROR, GO TC TH HALT ROUTINE
;THE PS IS NOT EQUAL T0 O

; IS THE RESULT 525257

:SEEN AN ERROR, GO TO TH HALT ROUTINE
RS IS NOT EQUAL TO 52525

Sy gs STESTN = #200°
:1F NOT hén GO TO HLT

;?EEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE

RERRRERREERARRERRRRREFRARRERERRFRERRREREERREERARRRRRRRERERRFRRRERERE

20010 SHIFTED BY -13. = 101 PS =0 |
PRRERERREEERERER R R R R R AR R R R R AR R E R RS R AR IR F RS

:TEST:201

TST201: SCSPEI

sDUMMY, %1

;LOAD R1 WITH DUMMY

#20010C,%1!1 ;LORD RI!1 WITH 20010

8-13., %1
98PSWORD

;SHIFT R1,R1!1 BY -13.
1 SAVE PS

80, 38PSWORD :1S THE PS 07

.+10
PC,SHLT

8101,%1
.+10
PC,SHLT.

cE?),aeox
#c.gnLr

(RS)

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO O

;IS THE RESULT 1017

;SEEN AN ERROR, GO TC TH HALT ROUTINE
;RIIS NOT EQUAL TO 101

- =18 STESTN = #201°

+IF NOT THEN GO TO MLT
a&ssn AN Eﬁnoao R HALT ROUTINE
s TEST IS IN WRONG SEQUENCE
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ASHC INSTRUCTION TESTS

000100
00s218

010&e76

000000
000001
177777
000002
000001
010630

100000
010614

000203
010576

000002

P-76__18:20 PAGE 31

FO3

lll!lil!!lllllll!ll!l!ll!l!!lii!llil!'l!ill!illl!ililliliillilii!ll*

s TEST:202

~1 SHIFTED BY 16. = 0 PS

= 11
!li!iiilli*!!!i!l!i “l!!!!!ii!!i*!!l***l!**l!lii!*ii*lii**ii*ll!iii

TST202: SgOPEl

CLC

HPPE

CMPB

&R

sDUMMY, %3 :LORD R3 WITH DUMMY
#-1,%3!1 : e e )
IFT R3,R3'1 BY 16.
o?Shoao 2"
"i J8PSWORD IS ms PS 117 -
Qm.r sszu AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 11
'9163 ;1S THE RESULT 0?
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:R3 IS NOT EQUAL TO
(RS) 8202 .15 STESTN = cauav
+10’ :IF NOT THEN GO TO HLT
PC,SHLT :SEEN AN ERROR GO TG TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE
(RS)

l*i&iillll*!il!llilillll*l*lllilllllili*l!lllIll*i*l!*!l!iiliillll*i

;TEST: 203

1 SHIFTED BY -1 = 100000 PS = 1

illilillll!!ii!!iilii!liil!iiliilillliillli!l!!!!iiliiii!iiiililli!!

TST203: SCOPEl

RS, Rl ;SAVE RS
sDOMMY , %5 :LOAD RS WITH DUMMY
1,751 :LORD RS'1 WITH |
$-1,%5 +SHIFT RS,RS!1 BY -1
38PSWORD :SAVE PS
'i l;mrnswmn 1S THE PS 17
PC,SHLT :SEEN AN ERROR, GO TO TH HALT nourm
:THE PS IS NOT EQUAL TO 1
nooooo %5 ;1S THE RESULT 1000007
“PC, 2..1 +SEEN AN gnnon GO TQ TH HALT ROUTINE
:RS IS NOT EQUAL TO 1000CQ
:RESTORE RS
(RQ) 8203 +15 STESTIN = 0203’
+10’ :IF NOT YHEN GO TO HL
PC,SHLT :SEEN AN ERROR, GO ro TH HALT ROUTINE

:TEST IS IN WRONG SEQUENCE
(RS)
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ASHC INSTRUCTION TESTS

000000
125252
177760
000002
000011

010S3e

125252
010518

000204
010502

125252
1e5es2

010436

052500
010422

010406

-000=0e
010372

000002

HO3

(RERERREREERRREREERRRRREEERERRRRRERRRRRRRRRRERRRERERREREEREREREEEREEE

; TEST: 204

125252 SHIFTED BY -1b6. = 125252 PS = 11

sREREREREREFREERERERERERRERRRRRRRERRRRRRRRRRRRRRRERERRERRRRRRERERREEE

TST204: SCOPEl
MOV

i
o
i
BEQ

JSR

101
cMP
BEQ
JER

$DUMMY, %1 :LOAD R1 WITH DUMMY

#125252,%1'1  ;LOAD R1'l WITH 125252

$-16. %1 sSHIFT R1,R1'1 BY -16.

38PSWORD :SAVE PS

'1{o°'PS“°R° 15 THE PS 117

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT'EQUAL TO 11

'if%asa'”‘ : 1S THE RESULT 1252527

PC,SHLT sSEEN AN ERROR cg TO TH HALT ROUTINE
:RI IS NOT EQUAL TO 125252

(RS), 8204 .15 STESTN = 82047

.+10 :IF NOT THEN GO TO HLT

PC,SHLT ;;EEN AN gnnon GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

3 BRI RN I I I I I I R R0 I I 0 0330300 0 0

; TEST: 205

125252 (25252 SHIFTED BY 21. = S2500 000000 PS = 3

g RREEREEEE RN R R I IRR IIIIIIII I R

TST20S: SCOPEL
MOV

BIEeE

¢23R 4849 ¢

DO
POIE D

8125252, %2 :LOAD R2 WITH 125252
#125252,%2!1  ;LOAD R2!1 WITH 125252
821, ,% .- ;SHIFT R2,R2!'1 BY 21.
, a@oﬁo © :SAVE PS
cglgopsuono 1S THE PS 3?
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 3
eﬁgoo,-/.a :1S THE RESULT 525007
PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE

:R2 1S NOT EQUAL TO 52500
¥000000,%2!1 ;1S THE RESULT 000000"

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
sR2'1 IS NOT EQUAL TO 00000G
(RS) , 8205 ' " .15 STESTN = #205°

.+10 :1F NOT YHEN 030 T0 HLT
PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
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DFKACA.P

11

00e01Y4
00s0186

006020
006024
006030

RSHC INSTRUCTION TESTS

000107
00sa1s

0ie702
012703
012704

8-SE°-76__18:20 PRGE 34

177771
000024
00002s

107
INC

MOV
MOV

MoV

103

{(RS)

#-7,%e
#51,%3
252,74

; TEST IS IN WRONG SEQUENCE
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1476
1477
1
1480 006C34
1481 006036
1482 006042
i:ﬂ3 006046
i B
1486 006060
1487 006066
1488 006070
1489
1490 006074
1491 006076
1492 006102
1493 006104
1494
1495 006110
149 00elle
1497 006116
1498 006120
1439 006120
1500
1501 006124
1502 006126
1503 00el3e
1504 006134
1505 .
1506
1507
iSUB
i
1511 006136
e
B
1515 0061Se
1516 006156
1817 00&l6e
iS18 006170
1519 006172
1520
1521 006176
1522 006200
1523 006204
1524 006206
1525
1526 0O0e212
1527 006214
1528 006220
iSEQ‘ 00&2%5
g e

08-SEP-76__18:20 PRGE 35
ASHC INSTRUCTION TESTS

125ase
125282

0
000010
010312

177525
010276

052525

010282

000206

125252
125252

171650
000002
000010
010210

177525

010174

010180

JO3

§ 3 IHHHEEEHHHHHHEEEHHHHEENHHHHEEEEHHHEEEHHHHERNEHHHHEEE R
125252 12SeSa SHIFTED BY S1 = 17752S S2SeS PS = 10

; TEST: 206

3 BRI RR NIRRT RN IR R R RRRREERR

TST206: SCOPE!
MOV

000002

18:

112
CMP

BNE
INC

#125252, %0
#125e5e, %0!1

#10, 3#PSWORD
.+1

St
81775825, %0
.+10

PC,SHLT
#525¢sS,%0! 1
.+10

PC,SHLT

(RS), 8206
1§
(RS)

jLOAD_RO WITH 125252
;LOAD ROZ1 WITH 125252

;SHIFT RO,RO!1 BY SI
s SAVE PS
;IS THE PS 107

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 10

; IS THE RESULT 1775257

sSEEN AN ERROR, GO TO TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525

;IS THE RESULT 525257
;SEEN AN ERROR, GO TO TH HALT ROUTINE
:ROT1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

1S THE STESTN = #2067
+IF NOT YHEN GO TO HLT ABOVE

§ 3R 3 R
125252 125252 SHIFTED BY @S2 = 177525 Sa2SaS PS = 10

; TEST:207

s RERRERRRFRERRFRRRRERRFERRRFRRRRRRRRERFRERRRRRRRRERRERREERRRRRRRERRESE

TST207: SCOPEl
MOV

18:

MoV
CLC
RSHC

8125252, %0
sle , 4011

352, %0
33PSWORD

$10, 38PSWORD
.+10
PC,SHLT
8177525, %0

L4 +10
PC,SHLT

#525es, %0! 1
.+10

PC,SHLT

jLORD RO WITH_ 125252
;LORD ROZ1 WITH 125252

;SHIFT RO,RO!1 BY 3S2
:SRV§ P<
;IS THE PS 107

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
; THE PS IS NOT EQUAL TO 10

;IS THE RESULT 177525?

SEEN AN ERROR, GO TQ TH HALT ROUTINE
:RO IS NOT EQUAL TO 177525

;1S THE RESULT 52525?

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
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006226 Q00115 115
1533 006230 0215;7 000207 CnP
2 B BT B

1537

(RS), %207
R
(RS)

KO3

THE STESTN = 82077
+IF NOT tusn GG TO HLT ABGVE
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1538 **i****i!!**ll*!llllll!l!lilillll*lll*li**llll!ll!!lll!l!lll!l!!lnlil
1539 :TEST:210 125252 125252 SHIFTED BY a#S1 = 177525 52525 PS = 10
{S:[l] ll!llilillillil!!!*!!l!!!il!lill*l!!**lllllillill!iii!!*l!i!il!*i!i!
1§4 107 TST210: SCOPE!
184 %Eg"g 812 86 125252 MOV 125252, %0 jLORD RO WITH_ 125252
is% 012701 125252 s ggg $125252,%0'1  ;LOAD RO!I WITH 125252
1548 %%5 89?;53; 000024 ASHC  JuS1,%0 :SHIFT RO,RO!1 BY aS!
1547 006260 106737 ooggoe- MFPS  J8PSUORD 1SR v; PS
1242 %gggg 2737 000010 000002 CMPB  #10,3%PSWORD ;IS THE PS 107
154 D01y BEQ +10
© 1550 006274 004767 010106 JSR PC SHLT ? N AN sangn GO TO TH HALT ROUTINE
1851 PS 1S NOT'EQUAL TO 10
1552 006300 000116 116
1553 006302 022700 177525 CHP 8177525, %0 :1S THE RESULT 1775257
1554 %q BEQ +10
1585 1 767 010072 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
isgg e y AN sRO IS NOT EQUAL TO 177525
1§sa %315 Bg%x 052525 CHP #52525, %0! 1 :1S THE RESULT 525257
iEEE 00632 001403 . BEQ .+10
‘5525_ 006324 004767 010056 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1 :ROT1 IS NOT Ebum. T0 52525 OR INCORRECT SEQUENCE
1563 006330° 000120 120
1Se4 006332 021527 000210 CHP (RS), #8210 1S THE STESTN = #2107
1565 006336 001372 BNE 18 :IF NOT THEN GO TO HLT ABOVE
1566 006340 005215 INC (RS)
%
1569 .. H"l!*i!!!*!*l*i!!i*l**l!***!**i!*l*l*i!i*il*i*!*ill*****i!***!*i****
1570 s TEST:211 125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10
}E;é 'INI!!lﬂl!lll!llliiiiillllillllillll!lllllllll!llll!lil!lii!ii!il!liill
1573 006342 010701 TST211: SCOPEL
1574 012700 125252 MOV 8125252, %0 {LORD RO WITH_ 125252
1575 012701 125252 MOV 8125252 %0'1  ;LOAD ROVI WITH 125252
1576 006354 000241 cLC
i? ?5‘;913 nguc 53’511&0 sum RO,RO'1 BY (3)
1572 006364 1 moo”””x”% 000002 cngg 810, J8PSWORD ?s HE PS 10?
1580 006372 001403 BEQ .+10
1581 004767 010006 JSR PC, SHLT :SEEN AN ERROR, GO TO TH mu ROUTINE
1582 :THE PS IS NOT EOUFI. 10
1583 00B400 090121 121
1584 00402 022700 177525 CMP #177525, %0 : 1S THE RESULT 177525?
1585 %4 %un; BEQ ’”2&
1586 41 767 007772 JSR PC,SHLT sezn AN ERROR, GO TO TH HALT ROUTINE
1587 RO IS NOT EQUAL TO 177525
1588 (0OB414 000122 122
1589 00E416 022701 052525 CHP #52525, %0! 1 +1S THE RESULT 52525°?
Eg? 882:%?. 001403 . BEQ .+10
1592 00B424 004767 007756 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1893 :RO'1 IS NOT Ebum. T0 52525 OR INCORRECT SEQUENCE

— ——— e - ® -
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133 ORbise QRLITE ﬁns 18 r? .1F NoT HHEN o6 J0 LT ABCUE. _

(RS)
1598
1593

e — e e e
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125252
125252

000002
000010
007706

177525
007872

052525
007656

goozie

125252
125252
0C.002
000010
007606

177525
007572

052525

007556

000002

000002

NO3.

§ EEHHEEEE OO R R R R R E R RN R
125252 125252 SHIFTED BY (3)+ = 177525 S2525 PS = 10

iTEST:212

i!***i*!!ii!!*i!!!!!!!i!i*!!*l!li*ii!i*ll!!!*ii*i!iii*!il*i*!***l***

TST212:! ﬁCOPEl

18:

#125252, %0 LOAD RO WITH 125252
#125252,%0'1  ;LOAD no'1 WITH 125252
(3)+,%0 :SHIFT RO,RO!1 BY (3)+
J¥PSIORD :SAVE PS
_ olobaupsuono :1S THE PS 107
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS IS NOT EQUAL TO 10
u17gsas ,%0 :1S THE RESULT 1775257
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
RO IS NOT EQUAL TO 177525
u§§gas,xuex :1S THE RESULT 525257
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
- :RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(RS), 8212 THE STESTN = #2127
%gs) :IF NOT ?HEN G0 TO HLT ABOVE

s EEXXRRRRERERERERERREREREXEERERERREXRRXXRRXRRXRERXXRERRREEEREEERREERR

$TEST:213

1%;

- TST213: ﬁCOPEl

125252 125252 SHIFTED BY -(3) = 177525 52525 PS = 10
e L L Lt T e

#12525¢2, %0 ' | LOAD RO WITH 125253
0125252 %0!1 ;LOAD Rn'l WITH 125252 :
-(3),%0

J4PSUORD

;SHIFT RO,RO!1 BY -(3)
s SAVE PS

llObUOPSNORD ;1S THE PS 107

PC,SHLT ; SEEN AN ERROR, GO TO_TH HALT ROUTINE
s THE PS IS NOT EQUAL TO 10

OIZESZS , 40 ;IS THE RESUL: 1775257

PC,SHLT

:SEEN AN ERROR, GO TO TH HALT ROUTINE
‘RO IS NOT EQUAL TO 177525

ugfgas,zusx ;IS THE RESULT S2525?

PC,SHLT

;SEEN AN ERROR TO TH HALT ROUTINE
sRO'1 IS NOT EﬁuﬂL TO 52525 OR INCORRECT SEQUENCE
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. (RS), #8213
13
(RS)

BO4

THE $TESTN = #2137
+IF NOT fuen GC TO ALT ABGVE
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125252
125ase

806002

000011
bo7soy

177252
007470

125252
0074s4

000214

125gse

125252
0000C0
000002
0Coe10
007402

177528
007366

0seszs

0Cc7352

000002

000002

co4

I ERER R R RRRRRRRERRRRRRR R RERR AR R RN RERERRRREERREPRARR R R RERRERT 244

; TEST: 214
T T e T T T e e e

TST214: SCOPEL
MOV

18:

125252 125252 SHIFTEC BY 2(4) = 177252 128252 PS = 1l

8125252,%0 :LOAD RO WITH 125252

#125252,%0'1  ;LOAD ROYI WITH 125252
stq) xg ;gnxrr RO,RO!1 BY 2(¥)
$PSHORD :SAVE PS
'iioa'Ps”one' +1S THE PS 117
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:THE PS 1S NOT EQUAL TO 11
8177252, %0 :1S THE RESULT 1772527

.+10
- PC,SHLY :SEEN AN ERROR, GO TO TH HALT RCUTINE

;RO 1S NOT EQUAL TO 177252
nifgasa.zosx :1S THE RESULT 1252527

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

: sROYT1 IS NOT EQUAL TO 125252 OR INCORRECT SEQUENCE
(RS), 8214 :1S THE STESTN = #214? «
13 :IF NOT tHEN GO TO HLT RBOVE

(RS)

(ERERERRRRERRRRERR PR FERERERRERERRRRRERRRRRRERRERRERRRRRERRRERERR R RS

; TEST: 215
T L L L T T T T T T e T e

TST215: SCOPEI
" MOV

18:

— CLMOIXIDOX

;5(..! U’ll‘"l% wro

N DO VVIO<
auwn

125252 125252 SHIFTED BY J(4) = 177525 52525 PS = 10

8125252, %0 LORD RO WITH_ 125252
8125252.%0'1  ;LOAD ROVI WITH 125252

(4),%0 :SHIFT RO,RO!L BY (W)

J8PSUORD :SAVE PS

oiclabacpsuono 1S THE PS 107

PC,SHLT +SEEN AN ERROR, GO TO TH MALT ROUTINE

:THE PS IS NOT EQUAL TO 10
li?EEES.ZQ ;IS THE RESULT 1778287

.41 ‘
PC,EHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
RO IS NOT EQUAL TO 177525

ogigas,zozx ;1S THE RESULT Sesas?

PC,SHLT ;SEEN AN ERROR, GO TQO TH HALT ROUTINE
sRO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
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1118 B5°83% Oarssr oooaus MP (RS),#215 .15 THE STESTN = #2157
1720 007042 D0idee BNE 1S :IF NOT HEN GC TO HLT ABCVE
18] 0070w OCSals g IN (RS)

1723

- - ————— —— - . ————- 0. —— ——
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{?sq ;llil!l*!l!lli!llillli!ll!!illllllllil!!!!llllilill!!!il!lll!il!lll!l
725 STEST: 216 125252 125252 SHIFTED BY d(4)+ = 177525 52525 PS = 10
}5 ;ll!ill!l!!l!ill!lllllll!ll!i!!lllIlll!ll!l!l!ll!ll!lllIl!i!lil!l!!ii
1728 007046 010701 TST216: SCOPEL
1723 007050 012700 125252 MOV £125252, %0 {LOAD RO WITH_ 125252
1730 007054 012701 125252 MOV #125252,%0'1  ;LOAD RO'I WITH 125252
1731 00 000241 cLe
mg 073034 RSHC  d(W)+,%0 :SHIFT RO,RO!1 BY 3(4)+
1733 007064 106737 000002 NF S9PSWORD :SAVE PS
1734 007070 122737 000010 000002 CMP #10,98PSWORD ;IS THE PS 107
1735 007076 ooxqo; BEQ +10
1736 007100 004767 007302 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
i-;a? 1 ; o :THE PS 1S NOT'EQUAL TO 10
17 %;1 gg% 177525 cmg 8177525,%0 - ;1S THE RESULT 177525?
1790 007112 001403 BEQ .+10
1741 007114 004767 007286 JSR PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
1742 R0 IS NOT EQUAL TO 177525
1743 007120 00O!MI 141
1794 007122 022701 052525 CHP 52525, %0' 1 :1S THE RESULT 525257
1745 333553 001403 o BEQ .+10
007130 0047e? 007252 ISR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
. :RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
007134 000142 142
00713 021527 000216 CMP (RS), 8216 1S THE STESTN = 82167
007142 001372 NE xgs +IF NOT THEN GO TO HLT ABOVE
007144 00521 NC (RS)

(REREEEEREFRRRREREFRERERRERRRERRRRRERRRRRRRERRRRARARRRERRRRARRRBRERRR

S L T L P

1
1

1

1

1

1

1

1

{

1 :TEST:217 125252 125262 SHIFTED BY a-(4) = 177525 52525 PS = 10
i ;l!i!li!l!!ill*l!!liiliil!llillll!iiliiiiﬁll*iillilllilllﬁi!&ili!ii**
1780 00710 Gio708 1 - TOTRL7s BCOPEL  cipeves x LOAD RO WITH 125252

1 154 015701 1525&5'5 MOV .ﬁ?%é%,xﬂu :LORD Ro!xoﬁ?m 12%252

i 007160 00G24! - CLC

1 007162 073054 ASHC  3-(Y4),%0 :SHIFT RO,RO'1 BY 3-(¥)

1 007164 106737 000002 MFPS  2sPSWORD :SAVE PS

1 007170 cxﬁera? 000010 000002 CMPB  #10,98PSWORD  :IS THE PS 107

1 0071 1403 BEQ .+10

1767 cma% 004767 007202 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1768 :THE PS IS NOT'EQUAL TO 10

176S 007204 000143 143

1770 007206 022700 177525 CMP 8177525, %0 :1S THE RESULT 177525?

i?T;I %;5}3 %&?2; 007166 ?Eg ﬁElguu EN AN ERROR, GO TO TH HALT ROUTINE
1773 ’ 23 IS no‘ EQUAL TO 177525

1774 007220 DOO1M4 144

1775 332735 052525 MP usagzs.zou :1S THE RESULT 525257

ol e DO

1778 007230 004767 007152 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1779 :RO'1 IS NOT EQUAL TO 52525 CR INCORRECT SEQUENCE




DFKRCR MACY1l
DFKRCA.P11

1
1781 ‘007236
17 ';' ‘42

Sigigideiniolgl

Pe s pe s b s e b Pt p—s pa
EEEEF
itete

2r(732)

08-SEP-76__18:20

RSHC INSTRUCTION TESTS

Q00145
??15;? 000217

l’l

1

PAGE 44

145
CMP

e

e —

FOY

(RS), 4217
18 -
(RS)

:1S THE STESTN = 82177
+IF NOT THEN GO TO HLT ABOVE
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001372
00s215

08-SEP-76_ 18:20 PARGE 45

007072

000Caa

000000

007058

000220

GOM

HRERERERRRRRRRERRERRRRERERRRE RS

; MUL INSTRUCTION TESTS
R s R e e 2

: l'lillllililﬂl'll'lll"l!il‘ﬂ".l"lli'l'l‘lllll!lllli!lll*!llll!l*lll!lﬂlil**lﬂli*l

; TEST: 220
Ty T Ty P T T T T T e e

TST220: SCOPE
MOV

18: -

MUL

l*80=00 PS =4

sLOAD MULTIPLICAND WITH 1
+MULTIPLY 1 * 80

80’ % :
28PSLORD :SAVE PS
--'218'959°R° iISPS = 4
PC.IHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
'9130 ;1S HIGH ORDER = 0
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS’ WRONG
80, %0!! :1S LOW ORDER = O
S { :
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
‘ ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(RS), 8220 h
%gs) :IF IN WRONG SEQUENCE GC TO THE HLT A2OVE
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1829

B LGE Y FF X E R A

g

007242

277

010701

000151
022700

08-SEP
MUL NSTRU“?E

70007
l

000002
00Go10
007012

177777
006776

177777

-7 %8 :20 PAGE 46

ION TESTS

0cooo2

HO4

RERERRERRERRREERERERERERRRRRERRRERRRERRRRERRRERREFRERRRRERRERREERE R R

s TEST: 221
DEEREEEEEREE R R ER R SRR RS

TST221:

18:

SCOPE
MOV
MUL
MFES
P8
0
ISR
151
5
152
CHp
BEQ
ISR
153

INC

MUL

TN
J#PSLORD

-l # 8]l =-] -] PS = 10

Long LTIPLICQND WITH -1
IPLY -1 * 8l

:SAVE _PS
OIOQGOPSHORD ;1S PS = 10

ﬁc,suu
8-1.%0
+10
PC.SHLT
8-1,%0'1
.+10
PC,SHLT

(RS), 8221
13
(RS)

; SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

; IS HIGH ORDER = -l

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS’ WRONG

;IS LOW ORDER = -]

:SEEN AN ERROR, GO TO TH HALT ROUTI
:LOW ORDER 1S WRONG OR WRONG SEQUENC

: IF IN WRONG SEQUENCE GO TC THE HLT ABOVE
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IBSB 3 FERREE PR B P FA BB R LY RS E R B FFF R RGN BIRF R B LSS SRS R PRSI SR LS LR RS 4 S22 2242
1859 :TEST: 222 MUL 2*#2=04 PS = 0
i%? : lli!!ﬂl!llf!l.lii*!!!!l"l"l!!*liii!lli!ill!!!Il!lil!!!ll!l*iii*l!ll!!liil
1555 D0ria8 Olo7oe 0000 o BN e LOAD MULTIPLICAND WITH 2
l | 1) ° ->
3 ﬁm gig70e --- - Enﬂﬁmv'g )
865 106737 000 MFPS  3#PSWORD s SAVE PS
aa? W e7 000000 000002 nsa '918"’5““'0 IS PS = 0
ga 7464 004767 006716 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3?3 | :PS 15 WRONG

(23433 000000 e 10,52 :15 HIGH ORDER = 0

A
5
33

1
1
1
1
1
1
}
fgf mum %;509 006702 ?%2 ﬁE gm.r SEEN AN ERROR, GO TO TH HALT ROUTINE
’ ’
1874 ; :HIGH ORDER IS’ WRONG
1875 007504 000155 155
1876 007506 022703 000004 CHP 4,721 ;1S LOW ORDER = 4
il:lZ7 is 001403 - BEQ .+10
-J4- :
1879 007514 004767 0O0BGEE JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
1880 ~ :LOW ORDER IS WRONG OR WRONG SEQUENCE
1881 000156 156 |
1882 007822 021527 000222 CMP (RS), 8222
1883 nmarg BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1884 007830 00S2! INC (RS)
iees

s — — - -
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MUL INSTRUCTION TESTS

010701
ﬁxosox

b0

122737 000001 000002
001403

004767 008620

a

855¢04 000001

001403

004767 (00BGOY

0001

022706 000000
061403

004767 006570

000161

Q21137 000223

061352

010108

005218

08-SEP-76_ 18:20 PAGE 48

JOo4

(EEERERRREERRERRRRRRRERARERRERRRRRRRRRRERRRRRRRBRE SR RRRRRRRESRRRRREES

s TEST:223

1000 * %200 = 1 O

MUL PS = 1
ll!ll!llﬁ!!!i!i!l!ll!!il!!ﬂililI!illil!l*l!l!ll!iliil!iii*li*!!il*ll

TST223: SCOPE
MO

18:

RS,Rl

74 TIPLICAND WITH 1000

#1000, ¢ hae?xs& fBmica aaa

aupsﬁono

cilgopsuono xs PS =1

ﬁc,squ :SEEN AN ERROR, GO TO TH HALT ROUTINE

e :PS IS WRONG

'il"' :1S HIGH ORDER = 1

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
tHIGH ORDER IS’WRONG

80, %411 :1S LOW ORDER = 0

.+l0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

(R1), #223 CK THE TEST NUMBER :

18 . IF xn uﬂouc SEQUENCE GO TO THE HLT ARBOVE

o s
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1818

007644 106737 000002
OC 737 000001
i

00 767 006522

007666 02 000000

e e T

007702 022701 177776
403

1938 007710
1939 007710 004767 006472

16 021527 000224

007672 . ~
007674 004767 006506

000002

KO4

§ 000 J0 0030 3630 36 90 36 36 36 36 36 36 36 36 30 36 38 36 36 36 3636 36 0 96 36 30 36 36 36 30 36 38 6 30 36 36 36 36 38 36 30 3090 36 06 36 30 30 3 30 36 36 30 36 30 36 00 0 0 0 30

; TEST:224 MUL
R e e et e e i it is ]

TST224: SCOPE
MOV

18:

MUL
CP3
%
ISR

16
¢
BEQ
JSR

163
CMP
BEQ
JSR
164

CMP
BNE
INC

e * 877777 = 0 177776 PS =1

90 IRUCHIPLY 8 & apa e
SAVE PS

J8PSWORD ‘

'118'P5"°R° IS PS = |1

PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

'9130 :1S HIGH ORDER = 0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

sHIGH ORDER IS’ WRONG
oiig77s,zo!1 :1S LOW ORDER = 177776

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

(RS), 8224
1% ; IF IN WRONG SEQUENCE GO TC THE HLT RBOVE

. (RS)
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DFKRCA.P11

1947
133
1949
1950

A

R LAt

[y Ty
soes
EFERR

MUL INSTRUCTION TESTS

012702 007777

106737 000002
12?:37 000000 0OOOOR
7&9 006426

022702 00000C
004767 00B412

022703 077770
004767 006376

021527 000225

08-SEP-76 18:20 PARGE SO

LO4

§ RN HHHE HHHENHHEHEH N NN R R 1%
MUL 77770 PS =0

s TEST: 225
: !!lil!!ilillﬂlillllill!Il'l“INI'lil’l*lllll!l*i!!l!!illl!l‘l!*!ll‘li!I'I"l‘l

TST225: SCOPE
MOV

Ebs

1%:

CMPB
BE
J

87777 %2
810, %2
J4PSWORD

777 % 810 =

LORD HULTIP CRND WITH 7777
MULTIPLY 7 %10
SRVE PS

#0, J8PSWORD sISPS =0

ﬁE}gHLT

80, %2
.+10
PC,SHLT
877270, %2
8 =

(RS), %225
18
(RS)

y SEEN AN ERROR, GO TO TH HALT ROUTINE
iPS IS WRONG

; IS HIGH ORDER = O

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS'WRONG

LB ; IS LOW ORDER = 77770

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TO THE HLT RBOVE
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DFKACA.P11 MUL INSTRUCTION TESTS

1376

o

14;3

}9@0 oiocaa 0{0?0{-

1332 01005 O0is704 077777
{983 oiocae

1332 818833 , ‘*ga
1886 010050

1987 010052

= .

1350 010088

1991 010064 0O

iggg 010066 004767 006314
1994 010072 000171

1995 010074 022705 000001
1996 010100 0OI403

1997 01010z

i% 010102 004767 (006300
2000 010106 000172

2001 010110 021127 00022%
2002 010114 001372

2003 010116 010108

agg; 010120 005215

8!\)
&

MO4

sEERERERREREERREREEEREREREEEERERERERRRERXERRERERRERREEEREEEREREREREER

+ TES

18:

T:

22k

MOV

822777,

l????? /H

MUL 77777 % w77777 = 37777 1 PS = 1
T T T T T T Rt R T T PR T e e T EE T T T

TST226: gCOPE

LOXB MULTIPLICAND WITH 77777
ggLTI;%Y 77777 % 877777

gﬂ VE
Ill PSWORD iISPS = 1

+10
PC,SHLT

- #37777,7M

+1C
PC,SHLT

8l 741

.+10

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

; IS HIGH ORDER = 37777

; SEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS WRONG

+1S LOW ORDER =

:SEEN AN ERROR, GO TO TH MALT ROUTINE

:LOW ORDER IS WRONG OR WRONG SEQUENCE
-CHECK THE TEST NUMBER

IF IN uﬁonc SEQUENCE GO TO THE HLT ABOVE
s RESTORE
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DFKACA.P11
007

3009
010
e0ll 0l0lge
2015 Dlﬂlgg
013 0101
2014 010134
5815 810140
16 010146
- 2017 010150
c018
2019 010154
2020 010156
e021 010iee
2022 010164
2023
el24 010170
e02S 010172
e026 010176
2027 010200
010200
29
010204
010206
0102
0102

——
Lm0

MUL INSTRUCTION TESTS

12702 177777

Q77777
106737 000002
652785 000010 0ooco2
004767 006232

022702 177777
001403
004767 006216

022703 100001
004767 008202

75
021527 00C227
00s21S

08-SEP-76  18:20 PAGE S2

NOY.

3 lll*!*l!i*!!*!!!*i*l!!!l*l*ll*lﬂll*!*i!ili**l*llll!ll!*l**ii&!lli!*l!

; TEST: 227
DR R R AR

TST227: SCOPE
. MOV

1%:

MUL

c-; %
877777 %2
JPSWORD

-1 % 477777 = -1 100001 . PS = 10

;LORD MULTIPLICAND WITH -1
NULTIPLY -1 % 877777
SAVE PS

410, JHPSUORD '15 Ps = 10

.+l
PC,SHLT
8-1,%2
+10
PC,SHLT

SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

: 1S HIGH ORDER = -1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS’ WRONG

81?8001,22!1 ; IS LOW ORDER = 100001

PC,SHLT

(RS), 8227
138
(RS)

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WMRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TO THE HLT ASOVE
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DEKRCA. P11 HUL INSTRUCTION TESTS
_;35 l!li!iili!l!lll!liiliiilI»!i!ii!iilli!llili!!i!i!!ii*ill!ii*!liﬂ'ilfl'

2037 TEST c30 MUL -2 % W77777 = -1 2 PS = 11}
gggg iiiiiiiiiil!iii}l!lillili'Ml!!i!*ili!!i!!!!*!!ll!iiil**}iffiil*}iilﬂl
2040 010216 010701 = TST230: SCOPE
3041 010320 (C12700 177778 : MOV Lonn MULTIPLICAND uxrn -2
2042 010224 070027 77 77 MUL 077?77 %0 ‘MULTIPLY -2 * 877777
2043 15530 106737 30 MFPS  J#PSWORD © iSAVE "
2044 010334 122737 000011 000002 CMP 811,08PSWORD ;IS PS =
2045 Q10242 001403 BEQ  ..+10
2046 010244 004767 006136 ISR PC,SHLT .+SEEN AN ERROR, GO TO TH HALT ROLTINE
2047 :PS IS WRONG .
3048 010250 002176 ! 176
2049 010282 022700 177777 CHP -1 %0 :1S HIGH ORDER =
2050 010286 001803 BEQ .+10
2081 010380 004767 008122 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT nourrne
2082 :HIGH ORDER IS’ WRONG
2083 010284 000177 177
2054 01026p 022701 008002 CHP $2,%0!1 :1S LOW CRDER = 2
2085 010272 001403 B8EQ .+10
208 010379 18:
2057 010274 0047e? 006108 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
s0%e :LOW ORDER IS HRCNG OR WRONG SEQUENCE
2053 010300 000200 200
2080 0109302 021537 000230 CMP (RS), #8230
2081 010308 001372 ENE 18 +IF IN WRONG SEQUENCE GO TO THE HLT ASQVE
2082 010310 (00Szis ING (RS)
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DFKACA.PLI MUL INSTRUCTION TESTS s

2068 (RERRERRRRERERERERR R RRRE R AR R R R AR R R RN R R RN R R PR R AR R RR AR R R AR SRS

1 TEST: 231 MUL 12Sase * 2 = -1 SasaM PS = 11
TRERRRERRRERERRRERERRRRERERRRRRBRRRERRRRERRRFRRRRRRERRR AR R AR RR SRS RS

TST23!1: SCOPE
MOV

b

2
£

10212 0107
813314 813;85 125252 8125252, %2 :LOAD MULTIPLICAND WITH 1252€2
2071 gx 320 070227 000002 MUL 82, %2 ‘MULTIPLY 125252 # 82
2072 01 106737 000002 MFPS  2%PSWORD :SAVE PS 1
2073 010330 122737 000011 000002 CMPB  #11,9%PSWORD  :IS PS = 11
ggm 318333 %uu BEQ +10 .
78 01 767 008042 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
20 | :PS 1S WRONG
2077 010344 000201 20
2078 (010346 022702 177777 ¢ 8-1,%2 :1S HIGH ORDER = -1
2079 gmasa 001403 BEQ .+10
208C 010354 O0O¥7&7 008028 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2081 :HIGH ORDER IS WRONG
%835 gmaso 000202 202 .,
10362 022703 052524 CMP 852524, %2! 1 :1S LOW ORDER = 52524
2084 010366 001403 BEQ .+10
208 010370 18:
20S€ O01037C Q0476”7 008012 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2087 ) - :LOW ORDER IS URONG OR WRONG SEQUENCE
2088 010374 000203 203 _
2089 01037 021537 000231 CHP (RS), 8231 : :
2080 010802 001¥2 BNE 13 :IF IN WRONG SEQUENCE GO TO THE HMLT ASOVE
aggaz 010404 00SZ1S ING (RS) :




DOS
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DOFKACA.PLI MUL INSTRUCTION TESTS .2

EQQH ' s lil!li«lGi!il_ﬂlllﬂllilli!lﬂll!li!lllli& PP 4P BEBELRBEILEFE 2R G R EFLSEE42H

ggg - 3TEST:232 . MWL 125252 # #40000 = 165252 100000 PS = 11
] 3 ERRERRRRRPFRDIRPPRRBSRRRREPLELRRFAPRIPR LB LR RRL32$24502044802320444

1 10701 1ST232: SCOPE

§838 §1§§ §1 1 MOV 5,Rl :SAVE RS

100 DI04IE Orgugs D000 MOV siescsdod  LORD MATIALICAND WITH jesas2

ngﬁ 81833 106737 8“08339. r’%s anggﬁoho ;SH'GE P§

2103 010426 122737 000011 000002 CMPB  ®#11,9%PSWORD ;IS PS = 11

2104 010434 001403 BEQ .+10

2105 010436 004767 0O0S74M JSR PC,SHLT +SEEN AN ERROR, GO TC TH HALT ROUTINE

138 oiow2 000204 : 204 A e

2108 010844 022704 165252 -CMP 8165252, %4 :1S HIGH ORDER = 1652%2

2109 010450 00I403 8EQ .+10 .

2110 010452 004767 005730 : JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

2111 *HIGH ORDER IS’ WRONG

2112 010456 000205 205

2113 Q10460 022705 100000 CHP 8100000,%4!'1 ;IS LOW ORDER = .100000

211§ 010464 0O0IN03 BEQ .+10

2115 010466 18:

2116 010466 004767 005714 ISR PC,SHLT - ;SEEN AN ERROR, GO TO TH HALT ROUTINE

2117 :LOW ORDER IS WRONG OR WRONG SEQUENCE

2118 010472 000208 206

2119 910474 021127 000232 CMP (R1}, 8232 :CHECK THE TEST NUMBER

2120 010s00 001372 BNE 18 :1F IN WRONG SEQUENCE GO TO. THE HLT ABOVE

2121 010802 0I010% MOV R!,RS :RESTORE RS

S;sg 010804 0Qs2iS INC (RE) :

2124
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DFKRCA.PLL

i3
2i28

l l

l 1081

131 OI0S1M

1 1

1 l

1 l
gl3S 010S34
2139
2137 010540
2138 010su4e
2139 810595
2140 010Ss0
2141
gl42 010SSY
gl43 010556
el¥y 010See
el4S 010Se4
gi4e 010584
ely?
¢l48 010S70
2149 010872
¢lS0 010576
elsl 010800
gise
el1s3

MUL INSTRUCTION TESTS

1 Aad
1
1070
1057§§ 000002

004767 0OSEYS

§700 031222
00Se32

026100
004767 00S616

0C0211
021527 000233

000001 0ccoooz

831222, %0
.+10
PC,SHLT

O DO @O
M35 4RI SRR

PC,SHLT

(RS), 8233
18

EOS

(RRERERRRERRRERRRE R R RRE AR R AR RN RN R R AR AR RRRRRERRERERRAERRR ARSI R4S

107070 # #107070 = 31222 26100 PS = 1

S MUL
(ERRERERRREFRREREEARREREERRRRRRRRERERRER R R AR AR AR RRREERRE LA R R RS RS

#107070, %0 ;LORD MULTIPLICAND WITH 107170
2107070, %0 ;HnglggY 107070 # 8107070

81, 34PSHORD 1JsPs = 1
PC,SHLT

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

; IS HIGH ORDER = 31222

; SEEN AN ERRCR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

Cg?éﬂﬂ,zﬂ!l ; IS LOW ORDER = 26100

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT ARBOVE




FOS
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DFKACR MACYLL 27(732)
INSTRUCTION TESTS

DFKRCR.PLI MUL

215‘! liliiil!l!!ll!llﬂlilll*ll*ll!lﬂllll!llllll*lllll’!l!liil!!il!i!!*ii*il

158 1 TEST:234 MUL 1% el =-] -] PS = 10

{ !I!!i!lllll!!ll!l!il!l'll'i'liiIllﬂli!lililill!!Illlll!ilillll!lil*!lili

158 010e02 010701 TST234: SCOPE

15 8msm 8*8705 172777 MOV #-1,%1 Lono .unpucmo WITH -1

1 10610 127 00000! . MUL TRA m.. -1 % 8l

161 0I06I4 106737 00CO02 MFP J8PSWORD ?n
515 1 6527 000010 000002 CMP %10, 98PSWORD

1 1 1403 BEQ +10
gm 010630 767 005552 ISR PC SHLT ;gesn AN ennon, GO TO TH HALT ROUTINE

165 :PS 1S WRONG
2166 010634 000212 212

167 1&33 177777 gm 8-1,%1 + 1S HIGH ORDER = -1

1 1064 1 EQ +10 #

169 010644 767 005536 ISR PC SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE

170 ‘HIGH ORDER IS WRONG

1;;- 31 3 - 213

1 1 2701 177777 - CMP 8-1.%11 +1S LOM ORDER = -1

173 010656 001403 BEQ +10 -

174 ngggg 18:

175 01 004767 005522 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2176 :LOW ORDER IS WRONG OR WRONG SEQUENCE
2177 010664 000214 214
Sm 010666 021527 000234 CHP (RS), $234 -

179 010672 001372 BNE 1§ :IF IN WRONG SEQUENCE co TO THE HLT ASOVE
2180 0106874 005215 INC (RS)

2181 »
2182




GOS
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2183 ' ;lli!il*llll!lllﬂlllllllll!ll'lll"ll'lll!!lliili!i!!ii!ll!l*‘lii!‘l*!I"Ill'll
2184 s TEST: 235 MUL -1 #80=00 PS = 4

g i g . : ERRERERREERRREEERERERRERRRRRRERERREREEEER R R R AR R R R SRR AR RRRERE IR 2
185 010300 §;§778§. 27777 el e ¥ R LORD MULTIPLICAND WITH -1

1 1 goaoa | MUL %0, %3 3 'MULTIPLY -1 * 80 3

e, W B, BN

5135 818352 6814 5':0 ;+!3 ' X

2193 010724 004767 005456 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
"1% iPS 1S WRONG

5195 010730 000215 215

aias 0{13732 oagua 000000 CHP oglza ;1S HIGH ORDER = 0

§1§ 818;33 802; 005442 : 953 Pc,?nu :SEEN AN ERROR, GO TO TH HALT ROUTINE
1 :HIGH ORDER IS WRONG

2200 010744 000216 216 -

2201 010746 022703 000000 CHP $0,%3'1 <15 LOW ORDER = O

385 giors“ua - 18: - -+10

2204 010754 004767 005426 q JSR  PC,SHLT " :SEEN AN ERROR, GO TO TH HALT ROUTINE
2208 : :LOW ORDER IS WRONG OR WRONG SEQUENCE
2206 010760 000217 217

2207 019762 021527 000235 CMP (RS), 8235

2208 010766 001372 ENE 13 :IF IN WRONG SEQUENCE GO TC THE MLT ASOVE
2309 010770 005215 INC (RS)




HOS

DFKACR MACY!! E?(?BRSTDB- =76 %g:EO PRGE 59

DFKACA.P11 MUL RUCTION TES
2212 3 B e Rpe I IERRRP RS R LS EBR AL P RL LS LGP LR UL SRS R RS S L L DI RS SRS EF S S EFFELE R LS
ggxa :TEST: 236 MUL 77777 % $100000 = 100000 100000 PS = 11
aalg 3 EREE R L IR RN IR R R IR P A SRR AL RS R R RSB A SR LRSI IR LR R RN R PR R4 R SRS 4SS 44
1
2216 010772 010701 TST236: SCOPE
5517 81 774 815& MOV n;,a; ;s% RS
18 010778 Ol 077777 MOV 87977745 :LOAD MULTIPLICAND WITH 77777
2219 011002 070527 100000 MUL #100000, %5 ‘MULTIPLY 77777 # #100000
gsgn 8“303 1067 ggggoa MFPS  @8PSWOR ;?WS PS
1 0110i2 122737 11 000002 CMPB  #11,98PSWORD  :IS PS = 11
2202 ougsg 001403 BEQ .+10
2223 011 004767 005360 ISR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
5224 :PS IS WRONG
2225 011026 220
ggs; gunw 100000 CHP #100000, %5 : 1S HIGH ORDER = 100000
11034 00IN03 BEQ .+10
2228 011036 004767 0OS344 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
2229 :HIGH ORDER IS'WRONG
2230 011042 000221 221
2231 011044 022705 100000 CHP #100000,%5'1 ;IS LOW ORDER = 100000
2232 011050 001403 BEQ .+10
2233 011052 18:
2234 011052 DOY76? 005330 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2235 :LOW ORDER IS WRONG OR WRONG SEQUENCE
2236 011056 222
2237 011060 021127 000236 CMP (R1}, 8236 .CHECK THE TEST NUMBER
2238 011064 001372 BNE 18 +IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
2239 011066 DI010S MOV R1,RS :RESTORE RS
553? 011070 00Sz1S INC (RS)




DFKACA _MACY1l
DFKRCAR.P11
2243
5
e
28 B
es0 011104
1111
111
ill
gess Olliav
e25k 0llles
= Hills
11134
2259
2260 gIIIQD
geel Olllve
111;8
111
4 011150
g26s
c2bb Ol11sY
2267 011156
cet8 0l1lee
gebd O0l111eM
g270
ge7l

27(732)

00Se1S

08-SEP

-76 18:20 PRGE &0
MUL INSTRUCTION TESTS

105

JRRRRERERERRRRREERRRRRRRRE R RERRERRE R R TR R RR TN EEEEEEREE R SR

; TEST: 237 MUL PS =
T i e e A IR I e e R s i s

TST237: sceps

18:

-1 % 877777 = 100001 100001

-1, $LOAD MULTIPLICAND WITH -1

SAPSORD. ‘2‘3".7;‘%* s

#10, 34PSUORD ;1S PS = 10

F"C.QH.T :SEEN AN ERROR, GO TO T4 HALT ROUTINE
:PS IS WRONG :

oirlzgom,-/.x : 1S HIGH ORDER = 100001

BC, SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
'HIGH ORDER 15’ WRONG

oi?gon1,z1!1 ;1S LOW ORDER = 100001

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

(RS), 8237

18

8 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
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DFKRCA.PL!

n
Jo?

[ Y B b pt s B i e - Bt e e p—n B foes
oo Bs Pk B s Bt ot P o Poen Pt o Pt pos B2 ps pa Pt ps P s

SUd FIRY BR

ERIEISE

E
a’:mm
e

;

EHERRE R G

QRN
8883

01070$
2

07632
106737

iad3
004767
000226
022703
001403
004767

08-SEP-76_ 18:20 PAGE 6l
MUL INSTRUCTION TESTS

077777
077777
000001
005166
000001
005152
000001
005136

000240

JOS

H !ll"l!ll*lllli*lmlil*l*!I"Iii*liil!l**l!l*‘l‘llliililll!ll'll!l'll!illll

;s TEST:240 ..
DEEREREERRHF RO RS R SRR R R

TST240: SCOPE
MOV

18:

MUL
MFPS

22k
CMP

BEQ
JSR

ee?

CMP
BEQ

JSR
230
CMP
BNE
INC

81,%3'1
.+10

PC,SHLT

(RS), 8240
1§
(RS)

77777 % 877777 = 1 | PS =1

;LOAD MULTIPLICAND WITH 77777
sMULTIPLY 77777 % 877777
sSAVE PS

nga ~ 81, 38PSWORD (IS Ps = 1
ISR F

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;IS HIGH ORDER = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
*HIGH ORDER 1S’ WRONG |

;1S LOM ORDER = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
!C0M ORDER 15 LRONG OR WRONG SEQUENCE

:IF IN WRONG SEQUENCE GO TC THE HLT ASOVE
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2308 011262 010701
230? 0}}2&4 2
5% Blies
e g
c3ll 011310
e3le 011312
2313
23l 011316 000231
231S 011320 022705 000004
2316 011324 001403
Sgis 011326 004767 0O0OSOSH
2319 011332 000232
2320 011334 022705 000004
edel 011340 001803
e322 01134e
; sgga 011342 004767 00S0N0
232S 011346 000233
e3cb 011350 021127 000241
2327 011354 001372
2328 011356 010105
S%sg 011360 00s218

e wma —— — -

KOS

SEEERERRERERERRRRERERERERRERRRRRRRRERRRRRRRRRERRRERRRRRRRER R AR AR REE R

s TEST: 241 MUL 44 PS = 0
PREEEREEEE RS R A R 2

TST241: SCOPE
MOV

18:

MOV
MUL
MFPS
CHPB
BEQ
JSR
23]
CiP
BEQ
JSR
232
CHP
8EQ
JSR

- 233

CMP
BNE
MOV
INC

e * %2 =

RS 55
oolgsPSHORD
PC,SHLT
#4,%5

.+10
Pc SHLT

; 04 %511

.+l0
PC,SHLT

(Rl),laql
‘19

m RS
(RS)

LOR?I TéP%l%SND WITH 2

IS PS 0

; SEEN AN ERROR, GO TO ™ HALT ROUTINE
iPS IS WRONG

;1S HIGH ORDER = 4

;SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER. 1S’ WRONG

;1S LOW ORDER = 4

:SEEN AN ERROR, GO TO TH HALT ROUTI
:LOW ORDER IS WRONG OR WRONG SEQUENC

-CHECK THE TEST NUMBER
:IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
:RESTORE RS
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DFKACAR.P11
2332 011362
2333 011366
gggg 011372

7
38
339
ol
2 His
ed43 011410
2344 011414
e34s 811422
e346 Ollv4ed
e3v?
e348 011430
e34s 011432
= S
2355
2353 OlIW
€354 011446
e3SS 0l14se
€356 011454
€357 Ol1454
2358
€359 011460
e360 (0ll46e
236l 011466
2362 011470
£363

Q12702 (040000
000034

012703
012704

010701

o
106737
122737
00

004767

08-SEP-76 18:20 PAGE 63
MUL INSTRUCTION TESTS

000036

125252
16b4eH
000002
000011
004756

165252
004742

100000
004728

000242

000002

MOV
MOV
MOV

LOS

#40000, %2
#SS, %3’
#56, 74

§ IR IR R R R R R R AR
125252 * S5 = 165252 100000 PS =

s TEST: 242

MUL 11
!!iiliili!iilliillll!!ii*liI'!l"li!li!!il!iii**ii!*i**iii*i!!*!****li*

TSTa42: gCOPE

18:

séasasa ,%0
asbsuono

"illbilPSHORD

PC,SHLT

11?3253 , 40
PC,SHLT

#103000,%0! 1
.+10
PC,SHLT

(RS), 8242
1S
(RS)

;LOAD MULTIPLIC TH 1252%e
sMULTIPLY 12525
s SAVE PS

sIS PS = 11

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

; IS HIGH ORDER = 165252

; SEEN AN ERROR, GO TO TH HALT ROUTINE
:HIGH ORDER IS'WRONG

AND WI
e * S5

; IS LOW ORDER = 100000

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT ABOVE




DFKRCA MACYLl 27(732)

DFKACR.P11
§§§§
2369 01172
E§7U 811474
371 011500
37 011504
5373 811510
374 011516
sg;g 011520
1
11
gggﬁ §1153q
2385 011540
2383 011542
2384 011546
2385 011550
2386 011550
2387
2388 011554
2389 011556
2390 011562
5391 011564

08-SEP-76_ 18:20 PAGE &4
MUL INSTRUCTION TESTS

125255
1663
000002

000011

© p04EB2

165252
004646

100000

004632

000243

e B — o — 4 -

0ooeoo2

MOS

(RERERRERERERRRRRERRRRERRRRERRRBRRRRRRRRRERERRRRREERRRRRRRERERERRRE RS

1 TEST:243 MUL 185 100000 PS = 11
!l**&l*lli*l!!!*!i*il!!*iiill!l!iilliillill!lll!!l*lilll*l!li!!ill!*

TST243: SCOPE

1%:

252 * @St = 165252

125252, %0 :LOAD MULTIPLICAND WITH 125252

3SE, %0 MULTIPLY 125252 * aSe

28PSWORD :SAVE PS

sxxbaspsuono (IS Ps = 11

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

ci?gasa,zo :1S HIGH ORDER = 165252

PC, SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE

PC, SHLT

(RS, #243
1$
(RS)

sHIGH ORDER IS WRONG

Qi?gOOU,ZOQI ; IS LOW ORDER = 100000

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE .

; IF IN WRONG SEQUENCE GO TC THE HLT RBOVE
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DFKACA. P11
23%4
2335
23%
2397
2338 Oiices
500 O1is74
AL i
403 811612
2404 011614
2405
2406 011620
2407 011622
2408 011626
2403 011630
2410
2411 . 011634
2412 011636
2413 Q11e42
2414 011644
2415 011644
2416
2417 011650
2418 011652
241 011656
2420 011660
2421

27(732)

ey
8%003

004767

000244
021527
001372
00s215

08-SEP-76_18:20 PAGE 65
MUL INSTRUCTION TESTS

625252
00034
000002
000011

004566

165252
004552

100000

004536

000244

s TEST: 244

ilPSNORD

PC,SHLT
.+10
PC,SHLT

PC,SHLT

(RS), #244
1%

NOS.

s ERREREER *!!lﬂl*!l*l*li***********ll***l*****!**i*****************l***

UL 125252 * guSS = 165252 100000 PS = 11
PEEREEEHOO R R R R HE R AR RS

TST244: SCOPE
MOV

IIESESE %0 ;LOAD NULTIPLICQND WITH 125252

J#ss, gULEIPgY 125252 * J#SS

IlioatPSNORD :1S PS = 11
; SEEN RN ERROR, GO TO TH HALT ROUTINE
iPS IS WRONG

#165252, %0 ; IS HIGH ORDER = 185252

;SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER IS'WRONG

Ii?gﬁﬂﬂ,xﬂ!l ; IS LOW ORDER = 100000

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TO THE HLT ABOVE




OFRACR MRCYLL

DFKRCR.PLL
2423
3
q
2427 0Qll1&&2
2428 311664
2429 011670
e430 0lle72
2431 Q011676
e432 Q11708
g433 011706
4
2438 011712
e+36 OlI71M
2437 011720
g438 O0l1722
2439
2440 0117
2] 011730
244 811?34
Zue= 11736
24944 (11736
24485
g44s 011742
2447 ¢ 1234
3%

Pt Pt s p—s

HbL INSTRUCTION TESTS

10791
13700 125252

000002
123737 000011 000002
004767 OOWMTY

gz27 165252
004767 004460

022701 10C00C
O0N7ET 00444

00024

2ri732) 0S-SEP-T5 18:20 PRGE 66

BO6

lIg?lsigillllli*l*l!i!lli!lil!liiﬁ*l!*lfil!!!i)!i*!iil**l*!f!!!il!fl
s e Y4

TST24S: SCOPE
MOV

MUL
MFPS
CHPB
BEQ
ISR

245
CHP
8EQ
ISR

MUL 125252 * %2 = 165252 100000 PS
llil*!!ll!li!!l!li!lilli!liilfl!illll!i!l!!!lillliill!!i?ilii*!ii!ii
oxasasa %0 :LOAD MULTIPLICAND WITH 125262
%0 HULTIPLY 125252 # %2
a-hsuoao :SAVE PS
liioaoPSNORD :15 PS =
PC,SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
:PS IS WRONG
3153252 ,%0 - 1S HIGH ORDER = 185252
PC,SHLT +SEEN AN ERROR, co T0 TH HALT ROUTINE
:HIGH ORDER IS WRONG

18:

246
cMP
BEQ
JSR
247
CMP
BNE
INC

li?8000.7“!1 ; IS LOW ORDER = 100000

PC,SHLT :SEEN AN ERROR GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG ‘OR WRONG SEQUENCE

(RS), 8245

}gs) +IF IN WFONG SEQUENCE GO TO THE HLT ASQVE
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DFKACR.PI!

-ﬂ!!ﬂ?ﬂ!
SR RLOR

117
s fhio
S48 Oi1od
S8 gl
-]

Ses 81206
2463

24968 012004
2465 012006
2466 012012
2487 [Dl12018
2468

2469 012020
S:Z? giauas
2472 012030
2473 01203C
2474

2478 (012034
2476 012036
2477 (12042
2478 013044

-

GEQ
83

— —

MUL INSTRUCTION TESTS

813708 125252

0
106737
122737 gggg?% 000002

ggaqo
767 004402

0002s0
g82709 165252
004767 004366

022701 100000
004767 0043S2

0002 :
021527 00C24%

0S-SEP-7E_ 18:20 PRGE &7

PC, SHLT

(RS),8246"
18

COb

(ERRERRERERRRRRRFERERRRRR AR AR RREERARRRR AR RRE RS R A AR R AR R RRRERS

s TEST:246
l!ii!l!l!l!l!ll!l!l!iiil!!!lllil!!!li!!!!l!!ll!ll!*!!i!lliiiiili!l!i

TSTa46: SCOPE
MOV

125252 * (3)+ = 165252 100000 PS =

0125252 %0 ;LORD MULTIPLICAND HITH 128252

aopshoao
m J8PSWORD ;IS PS = 11

3
PC,SHLT

HULTIPLY 125252 # (3)+
:SAVE PS

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

0163252 , %0 : IS HIGH ORDER = lgSase
PC,SHLT

; SEEN AN ERROR, GO TO TH HQLT ROUTINE
sHIGH ORDER IS’ WRONG

81?8000.2021 ; IS LOW ORDER = 100000

:SEEN AN ERROR, GO TO TH HALT ROUTINE
LOH onosn 1S 4RONG OR WRONG SEQUENCE

.3IF IN HRONG SEQUENCE GO TC THE HLT RSOVE
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DFKACA. P11
2481

g4

e430
g43l
c492
2433
454
2438
243
2497
c498
2499
25C0

B

OO0 00000 O0OO0OL O0O0OOOD
Pt Pt Pt Pt Pt Pt Pt Pt et Pt Pt Pt Pt Pt et Pt Pt P s P

o NPV
PosPeabapus Pt ot pot pos fus o

FER KR

n

n,
bt B
O£ 82 U

) el

- —— =

08-SEP-76  18:20 PRGE &8
MUL INSTRUCTION TESTS

125252

000002
000011 0cocoz
004310

1e5ese
004274

100000

004260

000247

D06

: #E;;i;';{l"l."*""!'l*i*'*‘l*‘ll’"*ll"l'l'l*l"!**'*!*'li***’*'l!*.*l'l"l
. . q
’ .

TST247: SgOPE
MOV

MUL 125252 * -(3) = 165252 100000 PS = 11
SREREREEREEFREREFRERRERRERRREERRRERERREREEBEEERRRREERRERRRERERREREE S

125252, %0 sLOAD MULTIPLICAND WITH 125252

-(3),%0 'MULTIPLY 125252 * =(3)

28PSLORD ;§nvs PS

:1xbaapsuono (IS Ps = 11

18:

MUL

HFPE
CMP

BEQ
JSR
253
cMP
BEQ
JSR
254
CMP
BEQ
JSR
2s5
cMP
BNE
INC

e
PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

IiBgESE,KO ; IS HIGH ORDER = 185252

.+l
PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER IS WRONG

li?gODD.%O!I ;IS LOW ORDER = 100000

PC,SHLT

(RS}, 8247
1$
(RS)

SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT RBOVE
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10

i1
&

19 012140
3815 Q12142
3516 012146
2517 012152
gi8 Diaise

13 013164
2520 012166
2521 -
g2 Dia1ce
2823 012:74
2524 012200
2535 Q12202
2526
2537 012206
2838 012310
2529 Qlcal4
2830 012316
2531 012216
2532
2633 Q12222
2534 012524
2535 Q012230

013232

b
BUR

2v(732)

08-SEP-76 18:20 PRGE &9
MUL INSTRUCTION TESTS

125252

0002
000011
004214

000256 °
2700 16Sase

004200

100000

004164

000253

0ooo0e

EOB

(REREERRREEERRRERERFRRRRRREERRRRRERRRRRERRARERER RS RERERRRRRRRRERRR R

; TEST: 250
L L T T e e e e

TST250: SCOPE
‘ MOV

18:

MUL
MFPS
MPB

Q

JSR

256
CMP
BEQ
JSR
257
CMP
BEQ
JSR
280
CMP
BNE
INC

MUL

125252 * 2(4) = 165252 100000 PS = 11

8125252, %0 ;LOAD MULTIPLICAND WITH 12S52%2

2(%), %0 IMULTIPLY 125252 # 2(4)

J8PSWUORD :SAVE PS

ciioaapsuono 1S PS = 11

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

1165252, %0 :15 HIGH ORDER = 185252 |

PC,SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE

:HIGH ORDER 1S WRONG

Oi?gUOO.za!l ;IS LOW ORDER = 100000

PC,SHLT

(RS), #250
13
(RS)

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS URONG OR WRONG SEQUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT RSOVE
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DFKRCA MACYLl 27(732)
INSTRUCTION TESTS

DFKACA.P11 MUL

eS539 llllli!!lll!llllli!!ll*liiilllllil"lliilll!!liil**llill*liilll!ll*l

40 s TEST: 251 MUL 125252 * J(4) = 165252 100000 PS = 11
as:é lli!!l!illlIlllli!lllll!ll!llllli!!l*l!llll«llii!llﬂlli!!lllllil!i!lll
as:g' o{aaaw 010701 TST251: 38395 uasas 0 1 1
s24 BisS BI0%% OBRAas: ML bk HOLTIPLY 126362 % §
1 )1 D

< L0 =

48 8155&5 éﬁﬁﬂg seo ” io
2549 .. 012262 004767 004120 ISR PC,SHLT ’gge?sgﬁn gﬁgon, GO TO TH HALT ROUTINE
5%? 012266 000261 261 ;
2552 012270 022700 165252 , CMP #165252, %0 :1S HIGH ORDER = 165252
2553 813274 %u £Q “gm.
2554 012278 767 004104 SR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2588 HIGH ORDER IS’ WRONG
2556 012302 000262 282
2557 012304 022701 100000 CMP #100000,%0!1 ;IS LOW ORDER = 100000
2558 (012310 001403 BEQ .+10
2589 (012312 18:
2560 012312 004767 004070 . JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2561 :LOW ORDER IS WRONG OR WRONG SEQUENCE
2Sb2 012316 000263 263
2563 012320 021527 000251 CMP (RS), 8251
25e4 012324 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ASOVE
2565 012326 005215 INC (RS)
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ll'lll'l!l"li!llii!ll!l"llI'l!!l'illlll!!l!!!lIlil‘l!l!l‘li!ilii'i!lll!“li*

2568 ‘ :
§§§§ ‘ TEST e MUL 125252 #* 9(4)+ = 165252 100000
i**iil!!!!i!*!!l*ll*l!!il!ﬁl!lililll!l!l!&*!!i!!llli*i!llilli!!lilil

?

as;g 0{2330 OIO;Ol 125252 TRV ESSP‘ 125252, %0 i MULTIPLICAND WITH 125
. L)

SE?H 815335 3}&& MUL 3+, %0 HUL IPLY ¥a§5§2 %3 +
2575 012340 106737 000002 MFPS aspsub RD s SAVE
ggzg g{gggg gz 000011 000002 ggga cxloaapsuono +18 PS

'
2578 012354 004767 004026 JSR PC,SHLT :SEEN AN ennon GO TO TH HALT ROUTINE
2579 :PS 1S WRONG
2580 012380 000264 264
2581 uiaasa oa;zoo 165252 CEP oxsgasa %0 : 1S HIGH ORDER = 165252
SESS 8153?3 83475 004012 95 PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2584 v, - L :HIGH ORDER 1S'WRONG
555; §1aags 555501 100000 CMP $100000,%0'1 ;IS LOW ORDER = 100000
2587 012402 001403 BEQ .+10 :
2588 012404 - 18:
2589 CI2404 004767 003776 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2890 :LOW ORDER IS WRONG OR WRONG SEQUENCE
2591 012410 00026 266
2592 012412 021527 DOo2s2 - CMP (RS), #252 X
2533 012416 001372 BNE 18 +IF IN WRONG SEQUENCE GO TC THE HLT ASOVE
2594 012420 005215 INC (RS)
3835 :
2638
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§§S§§
2600
01 Q12422
124
12430
2604 012432
12436
12444
13446
2608
2603 Di2us2
2610 (012454
2611 012460
iz 0l24e2
5214 pi2uss
2615 012470
2616 012474
2617 012476
2618 012476
2619
2530 012502
2621 012504
2622 012510
2623 012512
2624

&

SR TNsTRUCTTON Teste 0 PAGE 7

!!lllibl!llllIl!!!l"llllll!ll!lillll!l'l'l'Il!lll‘llll!ill!il!lllllll‘llli

i TEST: 253 MUL
'iii!!i!l!ill!l!ili!!ll!lliill!llli!!!llllllil!ll!!*ii!!l!l!iil*i!iii

)

106737
122737
14C

125252
000002
000011
003734

165252
003720

100000
003704

000253

000002

TST2S3: SCOPE

18:

CMPB

HOB

125252 * 9-(4) = 165252 100000

8125252, %0 ;LOAD MULTIPLICAND WITH 1282%2

-9 %0
38PSWORD

HULTIPLY 125252 ¥ 3-(4)

Ill J#PSWORD ;IS PS = 11

B b

#16525e, %0
+10

.41
PC,SHLT

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

; IS HIGH ORDER = 16Sese

; SEEN AN ERROR, GO TO TH HALT ROUTINE
sHIGH ORDER IS'WRONG

0198000,%0!1 ; IS LOW ORDER = 100000

PC,SHLT

(RS), #253
18 -
(RS)

; SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER IS WRONG OR WRONG SEGUENCE

; IF IN WRONG SEQUENCE GO TC THE HLT RSOVE
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DIV INSTRUCTION TESTS

BB0R04

000002

000000

003620

000000

002604

000254
003570

— s mem— s ——

000002

106

s SRR REEE R RE TR0 R R R R

DIV INSTRUCTION TESTS
DRERREERERRRENRRERRENRRARRENREAY

SEERRREERERRRARRERRRERRRERRRRRRRBRRRRRERRRERRRERRRRRRERRREREERRRREEER
; DIV 04/ =2 REM = 0 PS = 0
PEEEEREEEREEREREEEREREREFEEERERRERRERERERRREREEEREREEEREREERRRERE LR £

; TEST: 254

TST254: SCOPE
HSV
MOV
DIV
MFPS

CMPB
BEQ
JSR

e7e

IUlalPSNORD
PC,SHLT

82,%0
.+10
PC,SHLT

80, %0+1
.+10
PC SHLT

[RS& , #8254
PC,SHLT

(RS)

£868 Lo oRDRR"w i A0

DIVIDE BY #2
1SAVE PS
;ISPS =0

EEE?SRN ERROR, GO TO TH HALT ROUTINE

;1S QUOTIENT = 2

sSEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

; IS REMAINDER = 0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
+SEEN AN ERROR, GO TO TH HALT ROLUTINE
:TEST 1S IN WRONG SEQUENCE
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DFKACA MACY1l
DIV INSTRUCTION TESTS

DFKRCA.P11

; TEST: 255

1 pEE pEw o, T e
sg7é 812630 012703 177767 MOV
eb?3 012634 071227 000003 DIV
gg;; 012640 106737 000002 MFPS
cb76 012644 122737 000010 000002 CMPB
eb77 012652 001403 BEQ
Sg;g 012654 004767 003526 JSR
ggg? 012660 000276 276
2682 0l2eb2 022702 17777% CMP
cb83 0i2ebb 0014 BEQ
sggg 012670 004767 003512 JSR
ebBb 012674 000277 | a77
cb88 012676 022703 000000 CMP
cb89 012702 001409 BEQ
ggg? 012704 004767 003476 JSR
eb%2 012710 00 300
e693 012712 021527 000255 CMP
b3 012716 001403 BEQ
gggg 012720 004767 003462 JSR
2897 012724 009301 301

0ig7ee 00S21S INC

. JOb

ll*!*!!lili!lig;*ll*l!iillil!iill*l!!i*i!ii!**iI*!l****l**!lil!lll!l

-1 -9. /783 = -3 REM = O PS = 10

v
lllillill!!ll!!llil!lll!l!l!!lililil!ll!li*ll!lill!!iil!!iii{i!ill*l

#-1,%2 :LOAD HIGH ORDER WITH -1

$-9. %2+1 :LOAD LOW ORDER WITH -9.

$3, %2 sDIVIDE BY #3

J#PSLWORD :SAVE PS

siobacpsuono 1S PS = 10

PC,SHLT 3 EN AN ERROR, GO TO TH HALT ROUTINE

IS WRCNG

'1?0%3 :1S QUOTIENT = -3

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

'0163’1 : 1S REMAINDER = 0

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMAINDER

(RS), 8255
+10’
PC,SHLT

:IF IN WRONG SEQUENCE GC TO THE HLT
:SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

———— —————— — ® - -
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!!ill!!lil!iilll!lll!!lﬂlI!l'llli!iiill*lﬂlil!li!li'l!lil!lﬂl!l!i!lil!!li

s TEST: 256 DIV 09. 7 @=H4 REM = PS =
lll!!iilll!l!i!ll!liliil!!!!Iilll!!llllli!!!llllllili!!li!lli!il!*l{

TST256: SCOPE
MOV

RS,R1

MOV #0, %4 Lo”S HIGH ORDER WITH O

go; sg.,xq+1 Loeo L°§,°§2‘“ WITH 9.

H}PS auﬁsuono 25 EDF

000002 ggza uglanpsuoao :ISPS =0
JSR ﬁc,gHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

302

ggg c:ifw + IS QUOTIENT = 4

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

: tQUOTIENT IS WRONG :

303
2723 013006 022705 000001 CMP 81,7441 : IS REMAINDER = 1
2724 013012 001403 BEQ +1
2725 013014 0G4767 003386 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2726 = :WPONG REMAINDER
2727 013020 000304 304
2728 013022 010105 MOV :RESTORE RS
2729 013024 021527 000256 CMP ms) 8256
2730 013030 001403 BEQ :IF IN WRONG SEQUENCE GO TO THE HLT
2731 013032 004767 003350 JSR PC SHLT :SEEN AN ERRCR, GO TO TH HALT ROUTINE
2732 :TEST 1S IN WRONG SEQUENCE
2733 013036 000305 305
sggg 013040 005215 INC (RS)
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DFKRCAR.P11

e7
e73
7

2743 4
2;33 3060
STHB 013064
e7N? 013072
e748 013074
749
7S0 013100
2751
e7s2 013102
-
1311
2758
2756 01311y
5757 013116
5729 D1a1ss
e7el0 013124
276l
e’be 013130
2763 013132
e7e4 013136
27 013140
2766
2767 D131
2768 0i3lye

LO6

08-SEP-76_ 18:20 PAGE 76

177774
003272

177777

003256

000257
003242

SEEEERRRRERRREREREREXFRRRERRRERRERERRRRRRRERRERBRERERRRRRREEERERERE 2R
s TEST:257 DIV =1-9, / 42 = -4 REM = -1 PS = 10
3 T30 363 30 03 36 36 06 36 3038 36 36 36 96 36 36 3 36 38 36 38 36 36 3 3 3% 3 36 6 3 3 36 36 3 36 36 3 36 % 3 3% 3 3 3 36 3 3 3 36 3 3 3% 3 3 3 4 % 3 3 % % % % %

TST257: SCOPE

MOV #-1,%0 :LOAD HIGH ORDER WITH -1
MOV 8-9. %0+1 :LOAD LOW ORDER WITH -9.
DIV 82 %0 :DIVIDE BY #2

MFPS  J%PSWORD :SAVE PS

CMPB  #10,3%PSWORD ;ISPS = 10
Bl

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:PS IS WRONG

306

ggg o:?ﬁzu + IS QUOTIENT = -4

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
sQUOTIENT IS WRONG

307

ggg o;{oxo+1 : 1S REMAINDER = -1

JS PC, SHLT SEEN AN ERROR, GO TO TH HALT ROUTINE

Sl :WRONG REMAINDER

CMP (RS), 4257

BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE MLT

JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

e :TEST IS IN WRONG SEQUENCE

INC (RS)




MOB

DFKACA MACY1l 27(732) 0B8-SEP-7¢ 18:20 PAGE 77
OFKACA.P11 DIV INSTRUCTION TESTS

§;;0 ;¥E§¥§5gs*****i3;cil*iiaisuiiilsfiiaiiiiﬁ&l;g;&f!;llii&l;;***:&i*i**l
H s / 8=3 = = =
27?;35 E !«l!ll!!lilHﬂllH'lll!lilllli!:!il'll!l!l!!!li!llliiilill!l!i!li!il!i!l
§7 Qi3s3 Bid7os tempal - h T LOAD HIGH ORDER WITH O
5928 8131?; 01% %8882 , MOV 82, %o+1 :LOAD LOW ORDER WITH 2
2777 013162 071227 177775 DIV 8-3,%2 :DIVIDE BY #-3
: 013166 106737 000002 MFPS  8PSWORD :SAVE PS
g;ga 313172 122737 000004 000002 CMPB  #4,3%PSWORD IS PS = Y4
1 013200 001403 BEQ .+10 -
s;gg 013202 004767 003200 ISR PC, SHLT ;gge?sm mgﬁgon, GO TO TH HALT ROUTINE
g;;;!g 013206 000312 312 s
2786 013210 022702 000000 CMP 80, %2 : IS QUOTIENT = 0
2787 013214 00IN03 BEQ .+10
sgseg 013216 004767 003164 JSR PC,SHLT ‘355'?1257"}2%*0&8 TO TH HALT ROUTINE
5773? 013222 000313 313 :
2792 013224 022703 000002 : CMP 82, %2+1 : 1S REMAINDER = 2
2793 013230 001403 BEG .+10 -
gg 013232 004767 003150 ISR PC,SHLT : asgnc ngs ﬁﬁﬁ&nw TO TH HALT ROUTINE
2796 013236 000314 314 ;
2797 013240 021527 000260 CMP (RS), #260
2798 013244 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
2799 013246 004767 003134 JSR PC, SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
ggg? gl dsh Sk :TEST IS IN WRONG SEQUENCE
2802 033254 005215 INC (RS)
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2804
8

BB
897

8“’
3
2 Qi
SR oI

00 COCDCO
D e o e
DO NLEWV-0O

i

01333c

013334
013340
013342

004767
000317
022705
001403
004767
000320
010105
004767

000321
00sS215

08-SEP-7¢_ 18:20 PAGE 78
ON TESTS

=< |

177777
177776
000003
000002

000004 000002
003070

000000
003054

177776
003040

000261
003022

NOG6.

sERRERRERERREXEREEEXXEXEXRRXEREXXXXXERREAXERREXRRREREREEREEREREEEEEEE

; TEST: 261

-1 -2

/ 83 =0 REM = -2 PS = 4

DIV = =
;'*************!********!**’*******!'i*********l*********************

TST26l: SCOPE
MOV

83,74
J4PSWORD

84, J8PSWORD
.+10
PC,SHLT

80, %M

.+10
PC,8HLT

#-2, %4+]
41

PC, SHLT
R1,RS
(RS), #2861
.+10
PC,SHLT

(RS)

;SAVE RS

;LOAD HIGH ORDER WITH -1
sLOAD LOW ORDER WITH -2
;CIVIDE BY #3

;SAVE PS

(IS PS = 4
:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

IS QUOTIENT = 0

+SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

:1S REMAINDER = -2

sSEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

;RESTORE RS
; IF_IN WRONG SEQUENCE GO TO THE HLT

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST 1S IN WRONG SEQUENCE
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OIV INSTRUCTION TESTS

BO7 . :

;!iili!*lliii!!i!iiiiil!!}lliillllill!!iiiiillil!li!lll!lil!ii!il#li*

; TEST: 2862

DIV -3

-1 7 8] = -] REM = O PS = 10

;!’**ililii!i!l!i!illi!liilil!!i!!*!li!ill!*iil!lllili’l!iii!iliiiiii

010701 TST262: SCOPE
Q700 177772 MOV
Qlazoy 17orr MOV
30000 DIV
108737 000002 MFPS
122737 000010 000002 CcHPB
301403 8EQ
004767 002760 ISR
000322 322
g2 177777 cHp
001403 SEQ
004767 002744 TSR
000323 323
Q22701 000000 chp
OCI403 BEQ
004767 002730 TSR
000324 i 324
021537 000262 cHP
001403 BEQ
004767 002714 TSR
000325 32¢
008218 IN

8-1,%0 :LORD chn ORDER WITH -1

#-1,%041 :LOAD LOW onozn WITH -1

81.%0 DIvI OE BY

a-Psuono :SAVE PS

uxgbaupsuono 1S PS = 10

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

s-xoxc : 1S QUOTIENT = -1

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUCTIENT IS WRONG

ag!mu :1S REMAINDER = 0

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER

(RS) 8282

+10’ :IF IN WRONG SEQUENCE &C TC THE.MLT

BC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)
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DIV INSTRUCTION TESTS

DFKACA.PLI
2874
5375
76
e877
2678 013476
2879 013500
2880 01350M
5981 013Si0
882 013514
2883
£884 013520
c88S 013526
2886 013530
2887
2888 013534
2889
2830 013536
2831 013%42
2892 0135
2893
2894 013530
28
53 Didest
013556
c898 013560
2839
€300 013564
2901 Q013S&E
302 0Ol
2303 0!
2304
2305 0136800
2306 013602
2307

— ——

0003230
g21S27
004767

000331
005215

CO7

08-SEP-75_ 18:20 PAGE 80

CERERER R R RN R R R R AR R R R R AR R R R AR AR R R R R AR R R R EP RS R AR R B RARRERRABRRES

s TEST: 263 DIV C0/8l =0 REM = 0 PS = 4
TRERERERRRIRERERRERRRRRRERBRRRRRSARRRRRBRBRRRRRRRRI RS RRRRR RS RS S 424

TST283: s
000000 20, %0 :LOAD HIGH ORDER WITH O
00CC00 nov uc /001 :LORD LOM ORDER WITH O
000001 DIV :DIVIDE BY
000002 * MFPS a-Psuono 'SAVE PS
000004 000002 ggga aalgapsuono :1S PS =
002832 ISR PC,SHLT <SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
326
000002 ggg '0160 :1S GUOTIENT = 0
002636 ISR PC,SHLT :SEEN AN ERROR, GO TO TH WALT ROUTINE
:QUOTIENT 1S WRONG
327
00000C gg’s 80,1041 : 1S REMAINDER = 0
002822 ~ JSR PC,EHLT SEEN AN ERROR, GO TO TH HALT ROUTINE
_ o uaonc REMAINOER
000283 e (RS), #2863
BEQ .+10 ; IF m unonc SEQUENCE G0 TQ THE MLT
002608 - JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
331‘ :TEST IS IN WRONG SEQUENCE
INC (RS)
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2988
i
e3ll
e3l2

DDDODD

5t Bt Pt Pt bt s Pe
OUW~NOUN LW

AR

e

013702

013706
0i3710

i

2

73e)
DIV INSTRUCTION TESTS

3208 177777
§785 10e3Es
000002
000005
000010 (000002

002544

152525
002530

000000
7 002514

000264
004767 002500

000335
£0S215

D07

08-SEP-7S_ 18:20 PRGE Bl

(EREERE R RN R R R R R R R R R R R R R R R RN R E R R R R R AR A RP R AR R AR AR RERE2 0242

s TEST: 264 DIV -1 125252 7 #2 = 152528 REM = 0 PS =
DRERERERRRNRERRRRRRREERRRERRRRR R RN RRRERRRRRERRRI R RRR R RIRIRIE2S

TST264: SCOPE
MOV +LOAD HIGH ORDER WITH -1

MOV uxasase %+l :LOAD LOM ORDER WITH 125252

DIV 82, %2 oxvxos BY 82

MFPS an#suono AVE PS

ggga oxobaopsuoao -xs PS = 10

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

. :PS IS WRONG

332

ggz a1§gsas %2 + 1S QUOTIENT = 152525

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTIME
{QUOTIENT IS WRONG

333

gEm; : '915“2” +1S REMAINDER = O

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMA xnoé

334 _ .

CHP (nsn £264 -

BEQ +10’ :IF IN WRONG SEQUENCE GO -TO THE HLT

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

i - :TEST IS IN WRONG seousncs

ING (RS) g

-
()
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DFXRCR.PLL
2342

34
2378 014020
as*s 014022

70N 177777
012705 177777
071427 177777

0000C2

122737 000000 000002

004767 Q02434

022704 000COL
004767 002420

C2270S 000000
004767 0O24C4

00026S
002386

08-SEP-76_ 18:20 PAGE 82
DIV INSTRUCTICON TESTS

EO7

CEBEERRR R R RN R RN R R R R R R R R R R R R R R R AR R R R RAF R RN R R R AR RARR AR R RS

s TEST: 265 DIV -1 -1/ 81 =1 REM = 0O PS = 0
!Iiliiilllii*ll!li**!!i!!lii!ﬁ!!l*!!!!!!li!l!!i*!!ili!l!lllili!l!ll*
TST265: SCOPE

RS,Rl :SAVE RS

-1, 74 :L0AD HIGH ORDER WITH -1

c-x /q+1 :LOAD LOW ORDER WITH -1
:DIVIDE BY -1 |

aopsuono :SAVE PS

:olgupsuono :ISPS =0

PC,SHLT : SEEN nn ERROR GO TO TH HALT ROUTINE
:PS IS WRONG

sl E“ + 1S QUOTIENT =

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WAONG

ooléuox :1S REMAINDER = 0

PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
:WRONG REMAINDER
:RESTORE RS

(RS) 8265
«IF IN WRONG SEQUENCE GO TO THE HLT

pc !HLT ;zan AN ERROR, GO TG TH HALT ROUTINE

EST 1S IN WRONG SEQUENCE
(RS)
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DFKACA.P11 IV INSTRUCTION TESTS®
2978 l!i!!lli!ll!!!!!!ll!l!i!!iillii!illlilliiii!il!*i!l**i!*l!li!!!!ii&!
? s TEST: 266 DIV 25253 1 / $125252 = 100000 REM = | PS = 10
1 - IiillillH"lill'l!!!lilll!i«lil!lllllll*!!li!!ll!lllllll!l&!lllllll!lﬂli
2382 014024 010701 . TST266: SCOPE _
2983 014026 012700 025253 MOV $25253, %0 . sLOAD HIGH ongsn u;m 25253
81\9& g;a?u; 000001 MOV 81, %0+1 _,Lono LOW OR
14 1027 125252 DIV uésasa %0 . ,oz IDE BY #125252
598?99 014042 106737 000002 MFPS  J%PSWORD :SAVE PS
2988 014046 122737 000010 000002 CMPB  #10,38PSWORD ;IS PS = 10
2989 014054 oowo; BEQ .+10
2930 01405 004767 002324 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
2931 | A _ . :PS 1S WRONG .
ma%a 014062 000342 | 342 :
2994 014064 022700 100000 CMP uooooo %0 : 1S QUOTIENT = 100000
2995 Q014070 001403 8EQ +10 |
299% Q14072 004767 002310 JSR PC,SHLT © ;SEEN AN ERROR, GO TO TH HALT ROUTINE
5397 : - :QUOTIENT IS ukonc
98 014076 000343 343
3000 014100 022701 000001 " CMP 8l -/o+1 ;1S REMAINDER =
3?3135 gi:ig | %;29 002274 953 Pélmr sSEEN AN ERROR GO TO TH HALT ROUTINE
3003 - A ;WRONG REMAINDER
3004 - 014112 00034 o I
3005 014114 021527 000266 CMP (ns) 8266
3006 014120 001403 BEQ +10’ ~ ;IF IN WRONG SEQUENCE GO TO THE HLT .
3007 014122 004767 002280 JSR PC,SHLT szsn AN ERROR, GO TO TH HALT ROUTINE
3008 ; ssr 1S IN WRONG SEQUENCE
3009 DI14126 0O0O34S 345

3010 0isl 00s215 INC * . (RS)
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W
o

88888888

0i4132
814139

14180
O14144
014150

O141SH
gl4le2
Ol4ls4

014170
1417,
fui7g

014200

- D14204

014206

014212

Ol4214

014220

0l4e22

014226

014230

014234
014236

Pt Bt =t Pt ps s s Pe
ODONoTDNLWiv

HRERRRRRRENE

SRR

=t
hE

T

7
071227
106737

122737
201403
004767

000346
88&

14
004767
000347
022703
001403
004767
000350
021527
001403
004767

0003S1
005215

08-SEP-76_ 18:20 PRGE 84
DIV INSTRUCTION TESTS

8 7777
7777
Q777277
000002

0000c0o
002216

Q77777
002202

077776
002186

000267
002152

000002

GO7

(EERREERFRERREERRERERERERERREERRRERRERERERRERRRERERERRERRRERRRRRERRE 4%

s TEST: 267

DIV

37777 77777 / W77777 = 77777 REM = 77776

lliiliiil!!i!l!l!!!!l!!l!!l!l*liiilill!li!!!!Ii!l!i!i*!!I!iiil!i!**l

rror 8 (0B O oRDER with 79777

TST267: ECOPE

877777 %2
J8PSWORD

DIVIDE BY 877777
:SAVE PS

colaapsuono 3ISPS =0

.+10
PC,SHLT

; SEEN AN EREOR GO TO TH HALT ROUTINE

:PS IS WR

¢Z§E77,za : IS QUOTIENT = 77777

PC,SHLT - ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT 18 WRONG

'735?6 L %2+] :1S REMAINDER = 77776

PC,SHLT ;SEEN AN ERROR, (GO TO TH HALT ROUTINE
:WRONG REMAINDER

(RS) 8287

+10’ ;IF_IN WRONG SEQUENCE GO TO THE HLT

PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

(RS)

PS
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DFKACA. P11 D1V TNSTRUGTION Teste

ll**ilill*l!ll!ill*llli!!l*l*llll*ll****ii} ERRREEERRERREREREREREE£R

3046
38:? s TEST:270 DIV 0 100000 - s2 = 40000 REM = O PS =
8 . e e

3049
14 010781 TST270: SCOPE
14 8105 1 MOV RS m :SAVE RS
14 12704 000000 MOV :LOAD HIGH ORDER WITH 0
£§..3 14250 g 27 688333 MOV uﬁoooo “M4+] b?no D%ou ORDER WITH 100000
14254 0714 DIV
maoss 14 106737 000002 MFPS ac#suono :S
3057 Ql4284 122737 000000 000002 CMP8 %0, 38PSWORD (ISPS =0
3058 014272 001403 BEQ .+10
3059 014274 004767 002108 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3060 :PS IS WRONG
3061 014300 0003%2 352
% 014302 022704 040000 CHP #40000, %4 : 1S QUOTIENT = 40000
3064 014306 001403 BEQ .+10
3065 014310 004767 002072 JSR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
3066 :QUOTIENT IS WRONG
% 014314 000353 353
3069 014316 022705 000000 CMP 80, %4+1 :1S REMRINDER = 0
3070 014222 00IN03 BEQ +10
3071 014324 004767 002056 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE
3072 :WRONG REMAINDER
3073 014330 000354 35y
3074 014332 010105 MOV R1,RS :RESTORE RS
3075 014334 021527 000270 ‘CMP (ns) 8270
3076 014340 001403 BEQ +10’ +IF IN WRONG SEQUENCE GO TO THE HLT
3077 014342 004767 002040 ISR PC,SHLT ; EN AN ERROR, GO TO TH HALT ROUTINE
33078 ST 1S IN WRONG SEQUENCE
3079 (014346 000355 355 .
3080 014350 005218 INC (RS)
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08-SEP-76
DIV INSTRUCTION TESTS

e
701 077777
i
0CC000
001776

000002

040000
001762

177777

001746

000271
001732

18:20 PAGE 86

107

3 BRI IR TR T30 T T T 300000 06 000 00 T 336 2000 00 0000 00 00 2

177777 77777 + 177776 = 40000

REM = |
ililllllllili!l!l!i!llliiillilllll!lllllll!i!!lllii!l!lllli!!iiiiii!

:TEST: 271 DIV
TST271: scops
0177777 %0
§77777 /o+1
H}v 81777
J4PSUO b
CMPB 80, 38PSWORD
R
356
S"P wogoo ,%0
EQ +1
JSR PC, SHLT
357
CMP omm %0+1
BEQ +10
JSR PC,SHLT
360
CMP (RS) 8271 -
BEQ
JSR PC suu
361
INC (RS)

;LOAD HIGH ORDER H% 7; 77777
sLOAD LOW ORDER WITH 77777

g£VéDESsY 8177776
;ISPS=0

; SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

; IS QUOTIENT = 40000

sSEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

; IS REMARINDER = 177777

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMAINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
*SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

PS
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DFKACA.P11 DIV INSTRUCTION TESTS .

l!ill*I!*il!l*!l!i!l*!!*l**lll*l!ll!l!!i*llll!i!****ll*!**lll**!*lll

w
—
[
o

117 :TEST:272 DIV 0 52525 / #52525 = | REM = O PS =
iig !iiiiil!iill!llll!!!ll!lli!lllll!!!ll!illliii!!!llil!!il!iilii*!!if!
120 0I44s0 01C701 1S1272: scops

3158 BlddeE 8iS703 Deoces e’Sg 2+l 1L0RD LO ORDER WIMH ‘soses

153 814'4?3 312 835333 n?v Ee IVIDE BY #52525

5% 0I4476 106737 000002 MFPS aapsuoﬁo ;snvs PS

126 014502 122737 000000 000002 CMPB 80, 38PSWORD sISPS =0

3127 014510 DOIMO03 BEQ +10

gxgg 0i45i2 004767 001670 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1 :PS IS WRONG

g}:axl! 014516 000362 362 :

3132 014520 022702 000001 CMP 8l.%2 . ;1S QUOTIENT = |

3133 014524 001403 BEQ +10

3134 014526 004767 001654 JSR° PC,SHLT ;SEEN AN _ERROR, GO TO TH HALT ROUTINE
3135 < ;QUOTIENT IS WRONG

giaag 014532 000363 3

3138 014534 022703 000000 CMP 80, %2+] : 1S REMAINDER = 0

3139 014540 001403 . BEQ +10

gwa 014542 004767 001640 . JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
141 :WRONG REMAINDER

3142 014546 000364 364

3143 014550 021527 000272 CMP (RS) 8272

gm 13222 %1409 BEQ e s IF_IN unonc SEQUENCE GO TO THE HLT
148 01 4767 001624 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3146 :TEST IS IN WRONG SEQUENCE

3147 014562 00036S 365

gi:g 0i4564 005215 INC (RS)
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010701

12704

01270S

m
108757
042737
122737
00140
00476
000366

010105
02157

004767

QCO3¢e?
005215

77777
000008
000014
000003
oo1ssa

000273
001534

A S—————
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DIV INSTRUCTION TESTS

l!i!l!!!ill!!i'llll!!!i’lll!!il!!!il!l‘lil"llilii!!!!*l*l!!*!i!!il"l'!ll"l!

s TEST: 273 DIV 0 77777 7 %0 = DUMMY REM = DUMMY
T T L L T P P PP T T PP

TST273: SCOPE
MOV

v "o

gog 077777 w441 LonoDLouYososn WITH 77777

uéps ao#suoao E£v§ Es

BIC $14, 28PSWORD

ggza oalgopsuono :ISPS = 3

JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

366 -

MOV R1,RS :RESTORE RS

CMP (Ré) 8273

BEQ +10’ :1F IN unonc asauencs GO TO THE HLT

JSR PC,SHLT  _  :SEEN AN ERR 0 T0 TH HALT ROUTINE

367 :TEST IS IN unbnc SEQUENCE

INC (RS)

R Rl

LOXB R?GH ORDER WITH O
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D14€SH
158
014670
152
014706

814714
14716

014722
14
147

014732

014736
014740

(VA AIATATA]

[(NIATAIAINTAININININIATATSINIATA]
Bt Bt Pt Pt s Bt s ot Pt Pt Pt Pt -t Pt Bt Bt Pt Pt Pt s s P s
DBIPR L2002 8BBIRREBRE

DIV INSTRUCTION TESTS

010701
gis7e]
69273’
122737
004787
000370
gSia 000274
004767 001450

000371
005215

00004
000002
001464

08-SEP-7¢_ 18:20

PAGE 89
JEEEERRRERRRREREXERRERREREERXRRERRERERERRRERRERRBRRRRRRRRERRREREER R 1R

s TEST: 274 DIV 77777 177777 /7 w2 = DUMMY REM = DUMMY
DEEERHEEREHHEE R R N R R R AR R R 1

TST274: SCSPE

772, %0 :LOAD HIGH nurunn7

8177777 ,%0+1 838 Eu 0802 WITH 177777

gégs 3§#§uon DIV

BIC 814, aopguono o .

CMPB uglaopsuoao ;IS PS = 2

?ES bc,gnLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
; :PS IS WRONG

370

CMP xRS) 8274 ‘

BEQ +10’ :IF IN unonc seaucncs GO TO THE HLT

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

371 :TEST IS IN uabnc SEQUENCE

INC (RS}

0
w
n
n
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3200 014742 Q12702 oooooa MOV 02, %2
3201 0l4746 012703 00004 MOV 8598, %3
gﬁ 014 012704 000046 MOV 2510, 74
!il!liiiﬂ»l!*iii!li*!&!l!*l&lll!*'HH"lllil!*lii!*!!&!!&!‘“l*“llli*i
gg i TEST: 275 DIV 0 52525 / §9 = 25252 REM = | PS =
l-!l!lllllill!lllllillillliiiillll!!ill!llilllll!llllilii!lh!!ﬁliil!{i
3508 0{:?7658 DiD;m . 383"‘ 80, % H R WITH O
35?3 me 31571 @3822 MOV usésgs %041 ,Logg 5 R?E WITH 52525
3215 14270 071067 163050 DIV S9, %0 oxvms BY §
33513 14774 108737 000002 MFPS  @#PSWORD 1SAV
3214 015000 122737 000000 000002 CMPB %0, 28PSWORD :ISPS =0
3215 015006 061403 2 _ BEQ +10
3216 015010 004767 001372 JSR PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
3217 . :PS IS WRONG
335%3 015014 000372 372
015016 022700 025252 CMP casasa %0 : IS QUOTIENT = 25252
3221 01502z 001403 BEQ +10
015024 004767 001356 JSR PC,SHLT :SEEN AN ERROR, GO TO T4 HALT ROUTINE
3223 g :QUOTIENT IS WRONG
g 015030 000373 373
3226 015032 022701 00000 CMP 81, %0+1 :1S REMAINDER =
3227 015036 001402 BEQ .+10
3228 015040 004767 001342 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3229 :WRONG REMAINDER
3230 015044 000374 374
3231 015046 021527 000275 CMP ms; 8275
3232 0i50S2 001403 BEQ +10’ +IF IN WRONG SEGUENCE GO TO THE HLT
3233 015054 004767 001326 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3234 sTEST IS IN WRONG SEQUENCE
3235 015060 000375 375 :
_‘nsgg 015082 005215 INC (RS)
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DFKACA.P11 DIV INSTRUCTION TESTS

3238 H FERFELPELER KPS LE PSSR LSRRI L EPE PR R L2 B REP LB P LSS S48 445244454454
3239 s TEST: 276 DIV 0 52525 / 9510 = 25252 REM = | PS = 0
ga.?:? . $ FEPEBEIRERRBELER PR FELEREE RS LI E LR LR IR IEBA SR ETPER LRI 2844S5 224422428222

3 15064 1g7g6 1ST276: SCOPE

43 015066 012700 00000 MOV %0, %0 :LOAD HIGH onosn WITH O

4§ 018072 012701 0S252 MOV csésas %0+1 ,Lono LOW ORDER WITH 52525
3245 015076 071077 162744 DIV 0.%0 :DIVIDE BY 2510
%19 015102 106737 000002 MFPS aopsﬁono :SAVE PS

48 015106 122737 000000 000002 CMPB %0, 38PSWORD :ISPS =0
3249 015114 001403 BEQ +10

015116 004767 001264 JSR PC,SHLT EEE?S“Eg5§E°" GO TO TH HALT ROUTINE
§§§é 015122 000376 376
3254 015124 022700 025252 CHP oesasa %0 -IS QUOTIENT = 25252
3255 Q15130 001403 BEQ
3256 015132 004767 001250 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3257 QUOTIENT IS WRONG
gggg 015136 000377 377
015140 022701 0000O! CMP 81, %041 : 1S REMAINDER = 1

3261 015144 001403 BEQ +10
3262 015146 004767 001234 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3263 = :WRONG REMAINDER
3264 015152 000400 - 400
3265 015184 021527 000276 CMP (RS) 8276
3266 015160 001403 BEQ +10’ :IF IN unonc SEQUENCE GO TO THE HLT
3267 015162 004767 001220 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3268 . :TEST IS IN WRONG SEQUENCE
3269 015166 00O40! 401
3270 0i5170 005215 INC (RS)
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OO0 OOOO0
Psps s s P s pa
ey

foro  for
NE 6Zedn

£ e
R
=4

DIV INSTRUCTIO!

010701

000020
012701 0S2Ses
1037 gOGOHﬂ
122737 000000
01403 .
004767 001156

022700 02sase
004767 00liv2

Q22701 00000!
004767 0O0ll2%

Q21527 000277
0047867 COl1ll2

000405
cas218

-7 __18:20 PAGE 92
TESTS

i
EST

BOS

s Il%ll!!l!llli!llillilllll’illlllliilllliill!lllliil'l'l‘li‘l"ll‘llll\lll!!l

oIV 0 SzSeS / Jas3 = g82se REM =1 , PS=C
TRRRERERRERBRRARFRRRRRRERRER BB AR B RS RRBRABRRRRRR BRI RS RRRS SRR RS2

s TEST: 277

1ST277: SCOPE
MOV

MOV
DIV
MFPS

000002 CMPB
BEQ
JSR

402

CMP
3EQ
JSR

403
cMP
8EQ
JSR

404
CHP
BEG
JSR

4CS

TN
PR

;LOAD HIGH ORDER WITH O

:sééas %041 : LOAD Log ogogg WITH 52525

2%S
aopsnono

s DIVIDE
iSAVE PS

IDIJOPSHORD ;ISPS =0

.+10
PC,SHLT .
825252 “0

+10
PC,SHLT

8l,%0+]
.+10
PC SHLT

(RS& , 8277
PC,SHLT

{RS)

; SEEN AN ERROR GO TO TH HALT ROUTINE
:PS IS WRONG

: 1S QUOTIENT = 25252
:SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

:1S REMAINDER =
;SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMAINDER

s1F IN unouc ssousncs ?o TO THE MLT
:SEEN AN E H HALT ROUTINE
:TEST IS 'N uabnc ssogznce

-
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OFKRCA.P1I DIV INSTRUCTION TEST :
3308 T

§§§§ s TEST: 300 DIV 0 52525 / %2 = 25252 REM = | PS =0
CREREREERRRERRERERRRRERRER R RN R R R R RN R R RER R R AR R PR AR R RN RERSR

3310 015200 010705 TST300: SCOPE ,
3315 81 815700 nooogg MV 20, %0 sLOAD HIGH ORDER WITH O
331 0! 16701 0525 - MOV #52525,%0+1  ;LOAD LOM ORDER WITH 52525
3313 018312 07) . DIV %2,%0 ;DIVIDE BY %2
gaaig 018314 106737 000002 MFPS  JsPSWORD  ;SAVE PS
3316 015320 122737 000000 000002 CMPB 0, 38PSWORD ;1S PS5 =20
3317 01836 201403 BEQ .+10
3318 015330 004767 001052 JSR  PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3318 _ - :PS 1S WRONG
3330 0153 000406 4B .
3322 01533 022700 025252 cMP #25252,%0 : IS QUOTIENT = 25252
3323 015342 001403 BEQ .+10 |
3324 015344 004767 001036 JSR  PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3335 - s QUOTIENT IS WRONG
3326 015350 00OMO7 . . 407
355 015352 022701 (00000 CMP ° #1,%041 ;1S REMAINDER = 1
3323 015356 OCI4C3 BEQ .+10 |
3330 015360 004767 001022 JSR  PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3331 ' _ i WRONG REMAINDER
2332 015364 000410 410
2333 (183ee 021827 00030 CMo (RS, 8300 ~
3334 (18372 001803 BEG .+10 ;IF_IN WRONG SEQUENCE GO TQ THE HLT
333 015374 004767 001006 JSR  PC,SHLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
3336 TEST IS IN WRONG SEQUENCE

. 3337 QIE400 DOOW1 411
3338 0i%402 008218 IN (RS)
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DFKACA.P1l - DIV INSTRUCTION TESTS
3340 CRERERR RN R R AR R R R R RN R R R R R R R R AR R R R AR R R R R R LR R PR R R R AR LR AR RS 22
33:.'5 s TEST: 301 DIV 3 52525 / (3)+ = 25252 REM = | PS = 0
3343 s !lilil!illlllill!!lillllllil!*!!*i!lill!il*i!ll*ii!i**!!!ii!!i!iil*l
ﬁ 81 4 81?:& TST301: SCOPE

154 12700 000000 MOV Lono HIGH ORDER WITH o
33 Qi54lg Qlerdl 0SeSas HoV ?géﬁag %041 Dwgyoaoza WITH 52525
'
g:qg m?ﬂé& 10595; 000007 MFPS wsﬁo‘go gnvé 5
3350 015424 122737 00000C 000002 CMPB 80, J8PSWORD :ISPS =0 -
3351 Q18432 nuwo; B8EQ lgHL oF -
3352 015434 004767 000746 JSR T :SEEN AN ERROR, GO TO TH HALT ROUTINE
3383 . :PS IS WRONG
gg% OI1S440 00OM12 412
3356 DISw42 022700 025252 CMP #25252, %0 :1S QUOTIENT = 25252
3357 Q15+46 O0GI403 SEQ +10
3388 015450 OO47E7 000732 JSR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE
3359 :QUOTIENT IS WRONG
3332:11 015454 000413 413
3362 01545k 022701 0000CI CHP 8l %0+1 : 1S REMAINDER =
3363 018462 (OCIM03 4 BEG +10
3364 015464 004767 0OCT1e JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3385 WRONG REMAINDER
336 015470 00044 414
3367 015472 021527 000301 CHP (RS), 8301
3368 015476 001403 BEQ +10° $IF_IN unonc ssouznce GO TO THE HLT
3369 015500 004767 000702 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
70 :TEST IS IN uabnc SEQUENCE
3371 015504 0O0O4IS 415

3372 0iSS0e 00521S 3 INC (RS)
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DIV INSTRUCTION TESTS

010701
81270G

12701
071043
106737

122737
301403
004767

000416

000032

4
004767
000417
022701
CC1403
004787

000001
00Celz2

000302
000576

000421
0cs215

EOS

08-SEP-76_ 18:20 PAGE 35

ERERERRRRRE R R R R R R R AR R R R AR R R R R R R R AR R R R R P RERERRRRERRRRRRR AR

s TEST: 302 DIV 0 52525 / -(3) = 25262 REM = | PS = 0
;i!iii!ll!!!Ili!ll!l!l!iiiiil!!ilil’!il!!l!!*!lllil*!il!!&!iil!!!l*ll
TST302: SCOPE

MOV %0, %0 :LOAD HIGH ORDER WITH O

MOV 52525, %0+1 :LOAD LOW ORDER WITH 52525

DIV -13), %0 :DIVIDE BY =(3)

MFPS  2#PSWORD :SAVE PS

gggs aglgwsuono :ISPS =0

JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

;PS IS WRONG

416

SEE o§§gsa.xo :1S QUOTIENT = 25252

ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

:QUOTIENT IS WRONG

417

SEE 'hi’it’” : 1S REMAINDER = |

JSR PC,SHLT +SEEN AN ERROR, GO TO TH HALT ROUTINE

i :WRONG REMAINDER

CHP (RS), 8302

BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE MLT

JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

- :TEST IS IN WRONG SEQUENCE

INC (RS)
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DFKRCA.PLI

9@
DD IO £ e D B

EELELELLLLE

%
e

J4es

0
015710

37, 015712

015716
0is720

010701
012700
8 2701

1064

00
106737 000002

-~ 000000

-+
02

000000 - 00C002
000S34

0asase
00csao

000001
000SC4

000303
000470

oxvsfﬁsrnuc§§8§~?ss4§‘a° P %

FO8

(ERRERRRRERRR R R RN R AR R R R AR AR R RN R RN R R RRARRRERRE AR AR R AR AR SRS

s TEST: 303

DIV 0 52525 7 2(4) = 25252 REM = | PS =0

!!illillIill!il!!!l!lll!lilliill!lll!!!lll*illllilii!il!lf!ii*****ii

TST303: SCOPE
Y
MFPS
CMPB
BEQ
JSR
4e2

CMP

:LOAD HIGH ORDER WITH O

csésas %041 B?“?otou onosn WITH 52525

anpsﬁggo

#0, 28PSWORD IS PS =0

.+10
FC SHLT

IZSSSE , %0
PC,SHLT

Il %0+1
PC SHLT

(R?é , #8303
PC,SHLT

(RS)

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
: IS QUOTIENT = 25252

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

:1S REMAINDER = 1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG Rsnnmotn

+IF IN WRONG SEQUENCE GO TO THE MLT
:SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE




DFKACA MACYLl 2
DFKACR.P1!

3446 0l1S7ee

g:gg 015754

3456 015760

GOS8

?%P-?B 18:20 PRGE 97
srnuc ON TESTS ,
: 'll'i**'Hl"lilll*!H"liil!iii!ll*lii!lii!!liH»'lH!i!**l**l*!l****ii!li*i
s TEST: 304 DIV 0 52625 7 3(4) = 25252 REM = PS = 0
I»l!!*l!“ﬂl!l"l!llil!*ll!!lill!!l!ll*!!l‘lllllilil!!llllill!**!il!lln"l
019780 0000 - R L R WITH
1278? 0S252 : ngv sgésgs %0+1 8n8 0393 WITH 52525
--071074 000000 DIV 3(9), %0 oxvxos av a(Y)
106737 000002 ‘ MFPS  JWPSUORD ';SAVE PS
122737 000000 000002 CMPB %0, 98PSWORD ;1SPS =0
001403 BEQ . +10
004767 000426 JSR PC, SHLT ggsxs Rsnnon GO TO TH HALT ROUTINE
000426 426
35?383 025252 ggg sesgsa ,%0 :1S QUOTIENT = 25252
004767 000412 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG
000427 427 >
022701 000001 | CMP 81, %041 : 1S REMAINDER = 1 '
001403 ' BEQ +10-
004767 000378 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMAINDER
000430 430
021527 000304 CMP (RS), 8304
001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TQ THE HLT
004767 000382 JSR PC, SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEGUENCE
000431 431
005215 INC (RS)
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DFKACR.P11 Dlv
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RANE L ELEEE
=8 8BIRR L
3
8
a

i

000435
00s215

SN TESTS

000000
0Sasas

000000 000002

000001
oogz72

00030s
000256

8-SEP-7¢__18:20 PAGE 98

HO8

(EEEERRERREREREEEREERRE RS RRRERRRERERERRRRERERRRRRPRERRRRRREFERERRR LR

; TEST: 30S

oIV 0 52525 7 d(4)+ = 25252 REM = |

PEEERERREEREERREXFRRRERRRRRRRERRRRERRRRRRRRRRERRRRRRRRRRRRERRERRRRRE RS

TST30S: SCOPE
MoV

ISR
434

BEQ
JSR

435
"IN

;LOAD HIGH ORDER WITH O

#52525 %0+1 :LOAD LOW ORDER WITH 52525

AN+, %
33PSWORD

;DIVIDE BY J(4)+
;SAVE PS

80, 38PSWORD sISPS =0
+10

PC, SHLT

825252, %0
.+10
PC,SHLT

8l,.%0+1
.+10
PC,SHLT

(RS), 305
- +10
PC,SHLT

(RS)

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG

: IS QUOTIENT = 25252

SEEN AN ERROR, GO TO TH HALT ROUTINE
:QUOTIENT IS WRONG

: 1S REMAINDER = |

:SEEN AN ERROR, GO TO TH HALT ROUTINE
: WRONG REMAINDER

:IF IN WRONG SEQUENCE GO TO THE HLT
*SEEN AN ERROR, GO TO TH HALT ROUTINE
:TEST IS IN WRONG SEQUENCE

S=10
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DFKACR. P11 DIV INSTRUCTION TESTS
3510 ' = FERBRSIEERBEPREDRBES SRR R L PSP R RBUBLIRE SRS FERFLFRLLEEREF G LS SR 4 24548
- ;TEST: 306 DIV 0 52525 / @-(4) = 25252 REM = | PS =
$ T T Y Y s T Y ST s Y S ST S
3514 016134 010701 TST306: SCOPE
3515 016136 012700 000000 MOV %0, %0 sLORD HIGH R u%m 0
§1; 8"’135 2521 052525 MOV 452525, %0+1 -;b?no OW ORDER WITH 52525
17 0iel 1054 DIV 3-(9) . %0 :DIVIDE BY a-(4)
3?235 016150 106737 000002 MFPS  JPSWORD :SAVE PS
016154 122737 000000 000002 CMPB %0, 3%PSWORD :ISPS =0
3821 016162 001403 BEQ .+10
3522 01bl&4 004767 000216 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3523 :PS 1S WRONG
35352425 016170 000436 436
ggg; 16172 %a 025252 CMP $25252, %0 : IS QUOTIENT = 25252
161 14 BEQ .+10
3528 016200 004767 000202 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
%%3 :QUOTIENT IS WRONG
3530 016204 000437 437
3532 016206 022701 0000C! CMP 81, %041 : 1S REMAINDER = 1
3533 016212 001403 BEQ .+10
3834 016214 004767 00016E JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3635 :URONG REMAINDER
3536 016220 000440 440
3537 016222 021527 000306 CMP. (RS), #306
3538 016226 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
3539 016230 004767 000152 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3540 :TEST IS IN WRONG SEQUENCE
3541 016234 0DOOYML 441
3842 Q0ie23e 005215 INC (RS)
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DFKACA.P11

/WY

3545

322

3548

3543

3550

3881

3552

3553

3554

3555 016240

3556 016240
16242

3559 Dieooy

3560 016256

3561 016260

362 §isags

289 Biesd

365 0l6ars

35 Bl

38 Qisa0z

3230 Ofeain

3571 016316

3572 016320

3573 016322

3574 016304

3575 016326

3576 016330

3577 016332

3578 016336

3579 016340

3580 016346

3%a] 016352

3562

3583

3584 016264

3585

3586

3587

3ceg

3569

3590

3891 016355

3592 016384

3593

3534 016366

3595 016372

323 016400

016404

DIV INSTRUCTION TESTS

000070

100000 0000e2

0i6340
000042

016322

177777 000002

000e00

047105
0S152:
37

020104
Coo

e [PX]

012737 000024
000c00

012706
012737

J004
0co7se

000024
000072

JO8

08-SEP-76_ 18:20 PAGE ‘100

JEREEREREERRERRREERRERRRERERRRRRRRRRRRREREREERRRREERERREREEREER%

.SBTTL END OF PASS ROUTINE

; ®INCREMENT THE PASS NUMBER (SPASS)
:¥TYPE “END PASS™

s#IF THERES A HONITOR GO 10 IT

:#]F THERE ISN'T JUMP TO BEGIN

s#IF IT IS DESIRED TO HRVE 9 BELL INDICATE THE "END OF PRSS™ LOCATION
: ¥3ENDMG CAN BE CHANGED T

COPE
?nc $PASS : INCF -MENT THE PASS NUMBER
géc #100000, $PASS ,,oon T ALLOW A NEG. NUNBER
¢ (PC)+ : 1LOOP?
SEOPCT: .WORD |
BGT $DOAGN :; YES
MOV (PC)+,a(PC)+  ;:RESTORE COUNTER
$ENDCT: .WORD 1 .
§EOPCT ¢
e ;YCE ssnonc ,,TYPE “END Pns ol
I A R RONT ToR
CMP :ssnonn RO ,,rs MONITOR ACT11?
% $ENDAD NO--BRANCH
C $-1.2(R0) ,,vss--xs THIS THE Lnsr PASS?
ENE $DOAGN | NO--MAKE ANOTHER PASS
RESET :1CLEAR THE WORLD
$ENDAD: JSR PC, (RO) ,,co 70 MONITOR
NOP $ ; SAVEROOM
NOP
NOP ,,nc711
$DOAGN: JMP JUBEGIN RETU
$PASS: .WORD O nunasn OF PASSES
$ENDMG: .ASCII <15>¢12>/END PRSS/
$ENULL: .BYTE -1,-1,0 : sNULL CHARACTER STRING
"EVEN
ENDCT: 400

sRERERFRRERRERRRRRRREERRRRRRERRREFRERRRRRRRERRRRRERRRERRERRERE RS

.SBTTL POWER FAIL ROUTINE
§PWRDN: MOV $SPURUP, 3824 1
HALT ".h\.
SPWRUP: MOV #BEGIN, SP :RESTORE THE SP ‘
MOV sSPuRoﬁ 24
TYPE POWER :G0 AND TYPE “POWER"
BR $DOAGN
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DFKRCAR.P11 HALT ROUTINE

35
35

3501

2

HALT ROUTINE

PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR

e o e e e e

u 06 0 SHLT: M d(SP),J8SFATAL ;PLACE THE ERROR NUMBER AT LOCATION
m%ﬂ? §i.~ il 855??7 820000 181330 B 3eBoon SR 1S Tue GeERATOR okED 10 SUek £ ERROR Tvpe cuts
-]
164 000064 TYPE CRL ;80 AN TYPE A CR, LF, FOLLOWED BY 3 SPACES
3293 8154 8°88qs MOV a& -(SP) E
3611 016432 112767 000002 161361 MOVB  ¥2,STPCNT nLLou TYPE_OUTS OF PC AND ERROR NUMBER
3612 016440 016600 000002 - MOV cép) RO :BRING THE RETURN PC IN RO
3613 DIBY44 162700 0OOOD4 SUB RO’
3614 016450 112737 000006 002020 28: HOVB 6, QRTYPCNT sALLON TYPE CUT OF & DIGITS
3615 016456 0OS046 : CLR -(5P) :
3616 01460 00024l 4§ CLC
3617 016462 006100 - ROL RO
3618 016464 006116 ROL (SP) sBRING THE C BIT FROM RO IN (SP)
$613 Qibuee 05e7lb - 000060 BIS #60, (SP) :PREPARE_TO TYPE IT OUT
3620 0le472 004767 000130 JSR  PC,8TPCHR tAND GO TO OUT PUT A CHARACTER
3621l 016476 005016 : CLR (SP)
3622 016500 006100 ROL RO
3623 016502 006116 ROL (SP)
3624 016504 006100 ROL RO
3625 016506 00611E ROL (SP)
3626 016510 105367 161304 DECB  TYPCNT iHAS ALL THE SIX CHARACTERS BEEN TYPED ?
3627 016514 00136l 45 ;IF NOT THEN REPEAT FROM 4§
3628 016516 005726 TST (SP)+ sRESTORE STACK POINTER
3553 815520 017600 000002 MOy @g(sP), RO PREPRRE 10 ogr EUT_ IHE ERROR NUMBER
36 16524 000004 000066 TYPE 60 AND
3631 016530 105367 161265 DECB trpcnr BOTH c AND ERROR NUMBER HAS NOT BEEN
3632 016534 001345 BNE 2§ nevonrso THEN REPEAT FROM 2§
3633 016536 012600 MOV (5P)+,R0 sRESTORE RO
U 3634 016540 105767 161234 BS: TSTB  SENV :IF WE ARE NOT UNDER APT. THEN GO TO
3635 016544 001403 BEQ 8 ;88
U 3636 016546 005237 000000 INC  JsSMSGTY !OTHERWISE INFORM APT. ABOUT SEEING THE ERROR
3637 Exsssa 000777 : 2= 1 : AND LOOF
3638 016584 005777 1el272 Bs: TST  @SWR ;IS IT REQUIRED TO HALT ON ERROR ?
3633 016560 100001 BPL 108 ; IF NOT THEN GO TO 108
3640 016562 0DOOOD HALT -
364 Diesed Oeesis 000002 108: AOD  #2,(SP) - RDJUSE THE RETURN ADDRESS

8570 000207 RTS  PC ;AND R
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3ee) Biee’s
3&5& Dib&ﬁ%
i Ol
3656 0166?3
gggg Bigﬁiw
3659 a1
0lebe4
‘g B
3666 016636
3667 Q015642
3668 (O16B4MY
016652

(732) -76 18:20 PAGE 102
RSCIZ T#ﬁg gﬁg ROUTINE

TYPE OUT ROUTINE

17808 oooooe

000002
7 000004
32737 000040 ©£00C0C

105777 161220
116677 000002 1E1208

L B B B 8 3

$TYPE:
es:

38:

4$:

STPCHR:

cs:

48:
.END

LO8

THIS ROUTINE 1S USED TO TYPE ASCIZ MESSAGES

HOV
MOVB

7t

MOV
RODD
RTI

fe
BR

R
glsp) RO
(RO)+,~(SP)

43
(SP)+

(SP)+,RO
82, (SP)

ngSTPCHR
#40, JHSENVM
4$

a$TPS

c$
2(SP),asTPB
PC

; SAVE_RO

;GET THE ADDRESS OF THE ASSCIZ STRING
:PUSH THE CHARACTER T?HEE TYPED ONTO STACK
:BRANCH IF IT IS NOT TERMINATOR

; OTHERWISE RESTORE THE STACK AND RO
RDJ ST_THE RETURN
;AND RETURN

{RESTORE THE 'STACK POINTER

~;AND RETURN T0 2§

; HRS TH;HE QUTPUTS _BEEN SUPPRESSED?

:IF SO THEN RETURN FROM THE SUBROUTINE VIA HS
:1S THE PRINTER AVAILABLE?

s IF_NOT_THEN LOOP HERE

s0UT PUT THE CHARACTER
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DOFKACA MACYLl 27(732) (08-SEP-7&6 18:20 PAGE 104
DFKRCA.P11 CROSS REFERENCE TABLE -- USER SYMBOLS

- = 016356 3584s 35BS
SBEGIN  00CeQ0 415 4% W8 &7 N
COUNT 000000 363s 384 YoOx  4bo# 469 437%  SOM S31% S38 Ses* 572 600* 608
E36#* B43 9%+ 1017% 1030 1062 1074 1107 1119
DISPLA 00OCSY 3928
gISPRE 000174 409s ‘
Y = 000000 3398 1243 1271 1300 1329 1357 1386 1415
ENDCT  Dlb2t4 35844
ENT176 00S016 1223 12308
ENTSI 002915 716 7208
= 00044 3408 459 4624 466 4698 494 437s SOl SC4s 528 S3ls 535 S38s
Sbe SeSs 569 S72s 597 600# Y4 6078 3 6368 4 9%30 722
1 740 7438 746 7498 765 768 1 7748 790 793% 96 799
815 gles B2l 8244 840 g43# 8498  B65 gess 871 g74s 890
833 8% 89934 915 2184 321 924 0 9438 ) 949s %S 3688
971 974 1014 10178 1020 10238 1026 1029s 1032 103ss 1059 10628  106S
10688 107 1g7H8 107 10798 1104 11078 g lé%gt 1116 11198 1121 11248
1232 12358 1250 1253% 12S6s 1260 ieb3s | 128ls | 12868 |
1291s 1307 13108 1312 13158 1318 13218 1336 13398 1341 13448 1346 1343s
1364 13678 1369 13728 1374 13778 1393 13%s 1398 14018 1404 1407s 1422
14258 1427 14308 1432 14358 1450 14538 1455 14588 1460 14638 1465 14E8#
1488 14918 1433 14968 1499 1S02s 1519 1S22s  1Sa4 1S27s 1530 15338 1550
15538 1555 15588 156l 1S64s 1581 1S84s 1586 1589% 1592 15958 16l 16158
1617 16208 1623 lbcts 1643 1646s 1648 16518 1654 16578 1674 16778 1679
1682s 1685 16888 1705 1708 1710 17138 1716 17198 36 17398 1741 17448
17508 1767 17708 1772 1775s 1778 17818 181 1813s 18IS 18i8s 1821
1824 1839 1842 1844 1847 1850 185 1868 l
1898 1901s 1903 1906# 19128 | 1931 19 39
196508 1962 19658 1968 1971s 1987 1 1 l
20ee co# 2028 2031 2046 20498 2 2 e
cC83s 208 cC89s 2105 2108 ¢2ll0 @ 2
S 46  2149% 2164 51678 cle9  gl7es e
2078 2223 gccbs 228 | c23ls ge3M
22858 2287 22908 226 ed
23498 2351 23548 2357 2360% 2375
c409  24l2s 2415  g4iBs g433  2436#
c4708 2473 24768 2491 24948 - 2436
2531 eS34s 2548 2552 25574
2592 cblO0s ¢2bl2d 26158 2618
cébl cbb4s 2678  268l1% 2684 cbB87#
c7ces 2725 27288 273l e7348 2748
7 c785s 2788 279ls g7 27974
cBics cB38s 2852 2855
2892 28958 2898 290ls 2903. 2906#
29408 2955 29588 296l 29644 4
3002 3005 3007 30108 3024  3027#
3062# 30688 307 30748 3077

F = 000083 3418 730 7554 7808 805# 830#




DFKACA MACYI1l 27(732)

DFKACA.P11

N

NEGAT
PC

POWER

= 000307

002C10
=%000007

020072

PSWORD 000002

003432
001030
001172
003634
001334
001474
004032

3424
8t
2868
3103

2

08%
B46#

— e mm———— —

1238

{8788
5730

1S0%
Yy
515
459x
O4%
14%
B5S*

12668

3834
S5
51768

549
Yob*

c0*

19%
871%
1059%
1283*
1404 %
1530%
1674%
181S*
1939%
2075%
2196%

08-SEP-76 18:20 PAGE 10S
CROSS REFERENCE TABLE =-- USER SYMSOLS

10948
2038
$70s

3200#
583

1S07s

-
464
424
SEg*

1014#%




-

§-SEP-78 1

DFRACE MRCYIL 27(732! :
OFKACR.PLL caogé REEERENCE RBLE
REGS 001640 818 B2ls
RESTRT Q00222 41Ss
RITSH Q04240 1044 1088
RO =%000000 4ll# $12%
2810 3elo%
Rl 2000001 451% 453
138S% 140!
2239 2306#%
3168
<z =% z 487 -2
83 =%000003 Sal# gaz2
]S =000008 SSS# g5
RS 240000908 Y1S* Yol
. : S47 g72
Ba2 827>
702 709-
8S1# 874
1008 1029#%
1126 1132
1208 1215
1349 1372
1833 153S#
1721 1750
1915 1942
2091 2098
=Y ccb9*
2447 2449
2623 2689
2809 2832%
2976#%
3158 3168#
_ 3338% 3387
SCOPE = 010701 348 1804
2158 2187
2543 2572
2982 3016
3412 3446
SCOPEL= 010701 3468 447
809 834
1356 1384
1759
€COPE3= (10703 3478 483
== =%000006 3448 Yeoo#
3625¢ 3628
START  000&EE 4478 Y4
SWR 0000<S2 391s Yo7#
SWREG 00Ci76 409s
SWC9 = 001000 3488
SUil0 = (002 3498
SWil = 004000 3508
Silg = 010000 3Els
SO 2 3798
€l 000024 3808 381
€10 CO004E 3898 3202
€l 0000s0 3908
ce 0000z8 JBls 729

1134
413
3E13%

458#

18%2# -

2326

S22#
St
SSl#
469

S74%
e
718

876%

728
3245

76l

20 PARGE 106
== USER SYMBOLS

786

1474

1473

1515

BOS

62?7
3624#

B22%
1981#
2728
10S3*

1083

A ARS
.s:;-w\uo

B AEH AR
I S gk

mmggégﬁo—o— £

(WD W TUTVINV NV MU == 0= 0= b—a e e e
>

i
[PV ]

Ql’uo—
ABN
LU

3154

Wn
r—

Y
1811

3606
36S1#

1484

1546

36!13*
JesT#

3570
35SE#
1259+
cel7#
3074




COS

OFKRCR MRCY1l 27(732) 08-SEP-76 18:20 PRGE 107
OFKRCR.PLI CROSS REFERENCE TRBLE -- USER SYMBOLS

3 000030 ‘20
- 900032 3838
$5 9034 384 385 2233 2342 2400
$8 | . gse 2334 2371
s 1
iz g%y 78 > ”
= 000044 38 s 389 3201 3@ 32
TEMP1  00CCOM 378 36 429 w48 484 518 552 586 623 658%  bEus

04 71l7% 933 1002 1047 1092 1138 1l46* 1160* 1leB* 1175#

TEMPZ 000008 369 370 429+ 451 4S5 Y77+% 487 430 Siis 3¢l Se4
SS8 S79% 590 $93 BlS+  B26 629 BS1# 6S9*  SES*  B71#
87  bB%2x  £%/*  TO0S# 71l 994x 1003 1048 1093 1139 1187%

TEMP3 000018 3718 372 430% 463 478% 438 Sle» 532 S4e*  Seb S80#
637 gS2# 660  Bbb*  68l%  £8S# 693  B99* 706# 712k 335#
1038 10S2 1058 1082+« 1097 1100 1128+ 1i40% 11S2# 11Se# 1lbl#

TEMPY D0O0CI12 3738 374 431# 457 432 Seé Se0 535S 631 667%  £82#

707¢ 713 718+ 9%+ 101§ 1091+ 1083  108Sx 1108  1I31¢ 1I4Is
| 1163+ 1138 1200+ 12i2% 1227#
TEMPS 000014 J750 87 1023 1040 1068 108Ms  1LI3 LI30+ 1193 L1638 LL70s
TENPE 16 3768 998+ 1012 1057 1102  1148% 1164 1171%  1182% 1190  1201#
TST1EC 004274 1045 1089 1138 1194
TSTi8l  Q043e2 {148 11508
181182 004340 1131 1iS%s
TSTIE3 (0O43SE 1185 11588
TSTiE4 0Qw420 1153 11g6s
TSTIES OQWMSE .. 1167 11738
187186 0Q4S02 - 1174 11788
157167 004532 1179 11848
TE1i70 OQ4570 1188 11924
187171 004614 1193 11978
187172 0Que42 1198 12038 :
TS7173  0D4EE4 1204  1208s
137174 00472z 1209 12158
187175 0Q4756 1216 1333s
157176 00S034 12428
151177 00S) 12708 |
TE7200 005224 12988
157201 005324 13288
TE7202 Q0SHed 13568
187203 (QOSSI4 13848
157204 00ZE14 14148
187205 00571C 14428
757206 00034 14808
157207 006136 15118
157210 15423
167211 006342 15738
187212 0QEH42 16048
187213 (0QEsH2 16358
TETZ14  O0gEH2 1BEES
TST21S  OQE744 16978
TET21€ 007048 17288
187217 807146 17838




OFKACA MRCYLLl 27(732)
OFKACA.P11

187 007246
TST221 00734e
7436

157232 010406
151233 010508
157234 010632
187235 010676
181236 010772
131237 011072
TST240 011166
157241 011262
57242 011376
TST243 011472
3744 011586
TST245 01166z
157246 011759
157347 01209
157250 013140
151281 012234
87252 (012330
TS7283 Q12422
TSTeSY (Ql12S1d
157255 012622
181286 012730
1871257 013042
TE1260 0i3150
181261 013286
157262 013370
181263 013476
137264 013604
187265 013712
TST266 014024
157267 014132
157270 014240
187271 014352
157272 D14460
151273 014566
57274 014656
187275 014756
15127 0iS0Ed
187877 015172
157300 015300
157301 015404
157302 015510
187303 Digél
157304 015722
157305 016030
157306 016134
18137 00203

0S-SEP-7¢ 18:20 PAGE 108

18048
1833
18628

Sle

8s0

CROSS REFERENCE TRBLE -- USER SYMBOLS

Se4

620

DOS

bSE

gezs




OFKRCA MACYL! 2
DFKRCA.PL1

TYPE =

SAPTHD= *x#%xx |

SCRLF 000064

SOEVCT= #aaa¥s U

SO0AGN 016332
5322

SENV = sxss#s U
SENVM = s¥x#s U
SEQOP 0ig240
SEOPCT Dl1e2Se
SEATAL= »s2%3% |
SGET4z2 016274

$HD = 000003
| SHLT 8?6406

e

7(732) 08-SEP-7& 18:20 PAGE 109
CROSS REFERENCE TRBLE =-- USER SYMBOLS

3614%
35S

3609

3567
3569

3584
35798
3634

3564

3626b#
353¢

3830
3571

35738

3608

35778

3630

3587

EOS

P bt e B B
o Eroth .ot
—fuuno—unoun

O LWruoomoun
SPLIS2

MU= o p— p—s p— b
v
NN

S




DFKACK MACYLL 2
OFKACA.FLI

sm1%y= ExErex U
SMSGTY= *xxexx U

$PRSS 31533&
SPWRON 016356
WRUP
TUP=
$STUP = 177777
$SKR 160000
EEER® U

SOWREG=
STESTNE Exenes

(732}

08-SEP-76 18:20 PRGE 110

CROSS REFERENCE TRBLE -- USER SYMBOLS

3595
328
38M
485
35318
3

4
57

3216

3222
o

3606#

883

3557

3228

33

Se8

3586

-FO9

3233

%28

By

3579

TRy

G B
DO NO - £

2

mmma‘:
AR

3250

$ie

100S

~ 3585

3258

391

100

3262

3388

1095

3267 * -

L

3557%

3284

3

3S58#

3290

¥

35788

303

4178

s




OFKRCA MACYILl 27(732) 08-SEP-76 18:20 PAGE 112
DFKARCR.P11 CROSS REFERENCE TRBLE == MACRO NAMES

ERROR 4OSs 459 466 494 501 528 535 62 569 597  BOM 833 640 722 740
748 765 77 790 79 813 gax 840 awg asg 871 830 89E 915
Y4 946 % 971 1004 1020 - 1026 1032 105 106 1071 1076 1104 1i1@ 111
1121 1232 1250 1255 1260 1278 1283 1288 1307~ 1312 1318 123 1M1 1346 1384
1369 1379 1333 1398 1404 1422 1427 1M :usg 145 1160 1453 148 14 1495
1519 184 1 158 1555 156l 1581 158 153 16l 161 16 164 164 1684
16749 1679 1323 1705 1710 1718 1736 1741 17247 1787 1772 1778 1810 1815 1821
1839 1844 1 135; 1873 1879 1838 1903 1909 1928 1933 1939 1957 1962 1968
1887 1995 1988 201 2022 . soq 5051 go 08 2086 51 51 116
2135+ 2146 2146 21BN 216 175 1 198 2204 @22 22 223 225 2 364
2282 2287 5293 2312 2317 2323 3496 aagé 2357 23 2380 2386 2404 2409 2415
2433 2438 qU§  o4ee o967 o4’3 o491 o4 2502 2520 2525 2531 o549 2554 2560
3578 2583 2589 07 g 12 e§é8 2844 2650 . 2656 266l 5 78 2690 2695 271
2719 9726 2731 2748 T 2765 o782 7 2794 99 2817 2823 2829
2852 2858 o864 2869 2836 o892 22898 2903 22920 2926 932 2937 2955 291 2967
2973 2930 29% 3007 3036 3041 3059 2065 3071 3077 39 3100
3106 3111 3128 313 3140 3145 3B 3171 3189 3195 321p 3@ 328 32
3256 3262 3267 84 3290 32 33§§ 331 3324 333 o SR 3358 334 3369
6 3392 3398 3503 3420 34926 343 345y 46 4ee 3471 }94 3800
}/ES 3/ 3]\28 /™ 339 .. ,
HLT 4038 459 465 434 506 528 534 562 568 597 603 533 639 722 740
: : 745 765 770 740 235 815 820 B840 845 865 . 870 830 83  9i5 920
R %S 970 10i4 1020 1026 1032 1059 1085 1071 76 1108 1110 1il6
1i21 1232 1250 1255 1260 1278 1283 1288 1307 1312 1318 133 1341 1364
1368 1374 1393 1904 1922 1427 1432 1450 1455 1460 1465 1488 1493 1498
151§ 1824 1529 1889 1555 1560 1581 1586 - 1591  1el2 1bl7 1822 1643 1648 1653
1674 1679 1684 I 1710 171S 173 1741 174 1767 . 1772 1777 1810 1815 1820
1839 1844 1849 1873 1878 1838 1903 1908 1928 < 1933 1938 1957 192 1967
1987 1992 997 17 202 be7 2046 208l gos 2075 2080 2105 2110 211§
2138 2140 45 2164 16 1 2193 2138 2203 2223 9228 92233 9283 o2 2263
282 2287 9292 23l 2317 sa;s 346 351 sass 23 380 238 903 2903 guld
2933 2438 2943 467 o4 4a] 436 . 2501 @52 g8 3 - 2549 84 2559
2578 2583 2588 2607 26l  obl7 2644 2850 2BSE @Bl 2678 2R84 2890 2835 2713
2719 9726 2731 2798 o784 27¢0 2785 s?ae 2788 2794 2799 2817 2823 2823 2835
2 o8 2864 2869 28 2832 + . 2898 903 2920 2926 2932 2937 2955 2961 297
R R R TR o T
Fy~. & ' ] \ ~
35%9 3é3: % 35 1 331 3354 5333 333& 3332 3 3364 3 25
33\ 3392 3398 ™03 M0 3426 3937 3464 3460  34e6 39471 3488 3494 387
3OS 322 3|28 /34 3539
POP 3148
PUSH 3148

$ASHS 403 730 755 780 80S 830 !355. - S90S 930 955
SCIv 17938 2bi¢ gbbb 2700 @g7% 270 20N 20 28N 2908 Mg 2979 I 304 3082

316 3180 317 3204 3838 327 3%0 3340 3374 408  344e 3476

12
1J
C es @eIsN 218
ezl2 _Egﬂa »2e72 2301 2336 2365 239 2423 2452 2usl esll 2538 68

as97
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REFERENCE

"foal

:20 PAGE 113
== MRCRO NAMES

HOS

e

8 e et

3
L —



DFKACA MACY1l 27(732) 08-SEP-76 18:20 PAGE 115
OFKACA.P11 CROSS REFERENCE TABLE -- PERMANENT SYMBOLS

sga 364 363?
4S 43S 4g8 430 S22 Sa4
1811 18?8 1861 1895 lgéé 1936 1933
e 188 IS¢ 1B 8 HR
ASL 478 sle S46 S80 .~ blb 652
BEQ 426 4S8 Ye4 483 499 - - S¢7
739 744 764 769 789 794
919 933 944 964 99 1013 1019
1114 1120 l&3 1249  lg%M 1239 1277
1363 1368 137 392 1397 1403 142l
1497  1S18 1583 1528 1549 1554 1559
1652 1673 1678 1683 170M 1709 1714
1819 1838 1843 1848 1867 1872 1877
1966 1986 1991 1996 016 202l 2026
elldy 2134 2139 2IW 163 2le8  el173
222 2281 ge286 2291 2311 2316 g3el
413 2432 437 442 g4el g4k oM
e ' £ eS82 2587 2606 2bll  @2blb
gzle 2718 sggﬂ 2730 747 Sggg 2758
2834 285 7 2863 68 2891
2%b 2972 2989 2995 3001 3006 3023
3099 3105 3110 3127 3133 3139 31N
3e49 3258 326l b 3289 3295
3368 3385 3391 3397 3402 3419  34eS
99 3804 352l 3527 3533 3B38 3887
gg; 47? S10 S44 578 bl4 850 1037
BIC 3160 3185 3558
BIS 3619
8IT 443 4 €19 8583 c88 624 1005
BITB 425  36e¥-" .
BNE 414 450 471 480 486 505

BR
CLC 1004 1039 1049 1083 1094 1129 1245

IS14 1545 1576 1607 1638 1869 . 1700
CLR 412 420 429 431 BeM

1147 1162 1164 1186 1189 1201 1219
CMP 413 463 4e9 474 479 498

576 Selv g0l 608 12 el

690  B£% 02 . 709 15 20

B9 B8 B4 B33 893 918

1042 1063 108 1074 1080 1086  1i08

1158 11eb 1173 1178 1184 1192

1286 1310 1316 1339 1394 1367 |

1496 1502 1522 1527 1533 1553

1661 1657 1677 1682 1688 1708 1713

1818 1824 1842 _ 1847 1853 1871

136 1971 1990 2020 2025

oo
(

o EW

sv—r—r—o—-o—
RIS

—p 2
>—
—NNOLE0WW

T e o o s s b =
it vt e




DFKACA MACY1l 27(732) 08-SEP-76 1B8:20 PAGE 116
DFKACR.P11 CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS

Slag BN ELS

2412 cYv? 2465 24
e 5692 5510 261
5333 763 gl e
5856 % 5989  S9¢
3069 109 5i32 5i38
3265 je PB B
938 §5 88 303
cMPB 453 € 631 73
%83 1248 1276 1
1873 1703 1934 178
5044 162 3131 2931
Sieg 5605  oeN2 o676
388 Siee Sles 5187
DEC 681 1199 1211 1218
DECE 3606
DIV 2639 2777 2812 2847
5158 %279 15 5
HALT 33
ING Y62 506  S1I 53l
636 %61 776 80l
1038 1082 1107 1125
1351 1436  I468 1509
1783 1918 194 1373
3240 53%2 2391 2420
5698 5838 5872 9906
5198 2w B N
10T 363
e 41c 857 61 1136
TR 453 01 5l e
633 6 46  7e8
871 921 940 946
1059 1088 1089 1104
1260 1307 1312 1318
£ C
{713 B 15 1778
2022 é%;? éneu
aésé géoq §§:3 2228
5 ¢ 2 o
B R
S968  Soic
3% 16
38
3420 €4 B0 34bb
MFPS 456 S 630 737
1247 1275 1304
18 1502 173 1764
2043 3161 2130 2220

e
o

:20—-0-
QoS

et
3
o

80

BEES0D
D%(ﬂ

AUTRS

@
e
e T LA

Eo—-o—o—o—-o—-
—
FEER LA A
oL
TS,
SRS
U LD b b s o b e o
N— oo
FBONRS

TOMYe—b—t— b b

TUNU 0= == s s p—o pe p—=

?-mo-
Oule—
o

n
ounLo

ﬁgm

UMM M) b b b—e po po P e
L F=

e

NN LE-

nnn
et
~

w

S

e

e DD SR E
&

3
ey
i

W)

8

b3
-

N+t
s

S ——— = -
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DFKACA.P11 CROSS REFERENCE TRBLE =-- PERMANENT SYMBOLS

2453 es1? %) e57% 2604 2640 267y 2709 2744 2778 2813 2848 ZREz 2916 2951
3383 ggfg 3055 3090 dleN 3159 3184 3212 3246 3280 3314 3348 3382 3416 3450
MOV 410 411 419 421 Y2 Yo7 L 430 4y 4 484 487 c
S osk s S g G R M @ 3 @ & & o
$3 % N 88 58 8% 5% 83 85 . . I (-
99y 997 100 10 1003 1007 1029 1047 104 10 1091 IO;E 1093
{Dgg ila? il3ﬂ ilqﬂ ilﬂ }1 ilSﬁ ilBO il&l i163 {157 il il?l il iézg
B 1881 i858 133 AR is8) s 189 si§ s i8dE | 188 189 1583
1415 1416 1443 1444 147 14 1474 lqgg 148 l;&ﬁ 1;&8 1543 1544 1574 15
O o o ol o o & Mo s e
els él@ﬂ 5217 ecls éegg éaqé égg; : sggb 590; 3c8 S33g 2333 5534 2341 2370
2399 2428 2457 =0 1=1) ES%E S44 eS73 ' 2602 eb37 2638 2671 =) 708 . 2706 2707
27es e741 2742 e’7’s c7 09 810 eBll - gEsg ZH45 287 880 2913 2914
2947 2948 29+3 2970 2983 2984 3017 3018 - 3052 3053 3087 3088 Jl2l
3122 3155 3156 3157 3168 3181 3188 3200 3201 3202 3209 3210 3243 3244 3277
3278 3311 - 3312 3345 3346 3379 338 3413 3414 3447 3448 3481 3482 3518 3516
3566 3591 3594 3595 06 3610 3612 3629 3633 3651 3652 3656
g?gg 3&5& 3614 3668
MUL 1806 1835 1864 1834 ERE] 19563 5393 2013 204 2071 2101 2131 2160 2189 e2ls
2249 ee’8 2308 2342 371 2400 29 2453 248 ~ 2516 2545 2574 2603

104C 1041 1084 1085 1130 1131 3617 3618  3B22 3623  3\24 3625

RTI 3658 :
RTS B8 672 676 683 689 695 701 708 714 719 1143 1149 1153 1167 116§
e Uze 177 183 191 1% 1202 1207 a4 1220 1229 w2 3eed
TeT 726 123 3628 3638 3855 366l
T
ASCII 3579
ASCIZ 3% 37 .
BYTE 377 378 3581
END - 3670 -
ENDC - 321 33 3% 400 730 735 749 750 751 E ™M N M MmO m
765 799 BO0 .80l 805 810 B4 85 8% B30 B85 g4 @S0 851 855
ged 874 876 80 899 900 30! 905 910 94 9
935 9] 955 960 974 975 976 1238 1243 1258 1266 1271 1286
129 1300 1315 1316 1324 1329 134 1382 1357 1372 1380 138 1401 1402 1410
14i5 1430 (438 1943 1463 1476 1481 1502 1503 1504 1507 1512 1533 1534 1535
1538 1543 ISB4 1586 ISBB 1569 1524 1595 1596 1597 1600 1605 1626  lbe7 1628
1631 163k 1657 1658 1659 16b2 1667 1688 1689 1690 1693 1698 1719 1780 172l
1724 1729 1750 1751 1752 1755 1760 1781 1782 1783 1805 184 1825 1834
1853 184 1855 1863 1882 1@@3 1884 1893 1913 1915 1923 142 143 19
1871 1972 1973 1382 2002 2004 2012 2031 2032 203 041 2060 2061 2062 2070
2089 © 2090 2091 2100 2120 ale 2130 2149 2150 2151 2159 78 2179 2180 2188
07 2208 2209 a8 2238 g0 gauE g7 gl g9 g 22 297 28 20
2327 2329 eMi 0380 @3l  gdbe 237 389 0 i 2399 241 419 428
2447 2448 W49 457 76 g7z g guge ghOS g6 ghQ7 IS 253 2%
2544 2563 o564, @565 2573 92 2593 2594 ob02 ohel  obe2  obe 7 o4l
2671 2675 2693 2706 2710 2728 @723 @271 @S 2763 2775 @r73 2797 2810 2di
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*DFKACA DFKQCR SEGgEOL/ggF/DS :ERFZ/EN: RBS=DSKM: DFKACA.P11

RUN-TIME:

RUN-TIME RRTIO

CORE USED:

137/7 =1.7
(20 PRGES)
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